g

...\.M.AJ

%

Machine Tools Price

E-mail:eva@mzgtool.cn

| o

~—

¢

WeChat Linkedin

g ‘.\5\&‘2\ oy ey ¢[] _'1_'1,35\“:
Scanning, Contact Us
[TlS 1 oS S laylS Ay )slay T ansss0s s Glals / Gpalusall Gals 5
PO1. 525 mmme=== P16. = wves—es S

Carbide Milling Cutter External Cylindrical/lnner Hole . m x...3

PO2.  SiSeriin  pempemm— P17, oulumesiiann o g g

Cemented Carbide Cutter Grooving/Cut-Off Turning Tool

P03. %‘D%S\‘“‘C‘)s:“““d % P18- Alas s 1S DS dasssyl1adst ol ) gasly s

Extrusion Screw Tap End Face/Inner Hole w. s oo

G eSa " 2 CNC @ jugad ;L
P04 Apex Tap S P1 9 CNC Turnlrjgé Tool

R0 Ll —— > ONC s U508 &
P05 Spiral érooved Tap PZO CNC Turning }Toi;l‘ Parts i&

Es B }
PO6 BRI Y RSINET I ——— \ P21 2BAP s 5[ S 43505 G2 S o é
* Hand Tap/Circular Die =5 - .BAP .,z ——
. -
P07 & @ P22 05 K (K358 Hee g3l o adansl sy Gpila 2 - €
. s ccwmT. CNMG.. * Machine-Clamped Round Nose Milling Cutter %

PO8. , DCMT.. g DNMG.. P23. !ﬂ\mz.. SEHT.. &239 P3200..
J o[ K algy giglle 2 * S5 s dosKia s ;
P 09 - u SCMT.. L‘ sa k. SNMG.. P24 - LJockinga'lf;oth Type Cutte Insert Ty;:e(;uick Drrill
P10. & reer. ‘ TNMG.. P25. soiing Tool 4 ? s{?f/ﬂ‘“‘
P1 1 : . =D VNMG.. P26 Boring '}I;oglj Holder y
p . ‘.) Y iy, ) o
P12 u\ WNMG.. a WNMG.. P27 ER. . @ ‘FMA/B.. i
alyu 5 520 )T sam e 2 b
P1 3 Thre)ad 'IJ;urnJrnAg}TooI b P28 - GSK.? aos, X APU. ’

P14 Jshos 53 sains€ 3 [ 53300) 2 36 .“ P29 3CNC 505 Galala dila % e
" Cut-Off/Grooving/Back Turning Of Small Parts . i g

L

CNC Tool HolderAccessories

Al s o olay [0 55,50 oK3 5 5031 (B e (B3l 3 Gl 3 s) S ol gl o 4 e
P1 5 External g, Turning Tool Q P3O Lathe (J;rfuck).\ccessories nb @ w

L) gard 4l g ol oS w“})gﬁd}-h 3322 o) JsS Sl s ] Aala u‘"_a\Jaiig.s_ilu.a
Professional Turning, Milling, Threadingiand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

SRAS 5158 uSa 3l LS o

Carbide Milling Cutter

S 408 s b S RS e s G NS s S IS e L2 2 AsS HS sl slis
£2 3HRC A5 533Y 20 JHRC 2Y 5 5 s3Y SN s SIS hsha ol s JadLHRC 533 | 30 S HRC sl (559 10 S HRC dieS 5ol
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
E#J L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R R R R R
ess—— G 4% AL
PN | f : i b"h 5"»
20 e G s siline s M1 s line 15008 5,58 ! I
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 5.715.7
1. 5x4xD4x50  |RO. 75x3xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 S| 5.7 5.7
2.5x8xD4x50  |R1.25x5xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
3. 0x8xD3x50  |R1. 5x6xD3x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 4.4 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 (4.4 5.0 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 20 2.6 2.7 3.1 4.6 5.1 5.1 5.7 5.7
3.5x10xD4x50 |R1.75x7xD4x50 | 2.0 | 2.6 2.7 ] 3.1 4.6 5.1 5.1 5.7156.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.7 126 (3.4]127|3.1]|49|44[46](60 6 6.7 5161|5651 [61]57]|57]|76
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[44]51] 61 711 7.9 6.6 816781 7.7|(7.7]|8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.31411]16.4]15.0]5.4(7.7 7.6 9.0 7.8 19.117.9(19.1]18.7]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147 6947|5677 8.1(9.3 9.5 [11.6( 9.6 [11.6[10.7]10.7(12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 7.7(7.4(81(91 11.3(13.5 13.0113.0(14.7
5. 0x13xD5x100 |R2. 5x10xD5x100 | 6.6 | 7.6 | 11.0[ 8.9 [ 9.6 | 11.1 13.0115.7 15.3116.3|17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143)6.4]|147)157]|8.4 8.1[19.3 9.5 [11.6] 9.6 [11.6[10.7]10.7[12.3
6. 0x15xD6x50 |R3. 0x12xD6x50 3114364475784 7.4]181]93]|94]10.5]9.5(|11.6]|9.6]11.6]110.7]10.7]12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 4.9 (56| 7.1(7.4(8.1([10.0 11.1(12.4 11.4(13.6(11.4(13.6[13.0|13.0(14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6(15.0 13.4(16.3(13.4(16.3[15.3|15.3|17.3
6. 0x30xD6x150 |R3. 0x12xD6x150 | 12.3 | 14.3|18.7[18.7|19.9|23.4 27.6 26.5 26. 6 26.3126.3]129.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 [10.4( 8.4 [10.0(13.3| 13 [13.9(15. 15.3(16.5(15.3(18.4(15.3(18.4[17.6|17.6(20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.1(9.4(11.6({11.0(12.4{15.3 17.6119.3 17.7(21.1(17.7(21.1120.0|20.0(22.6
8. 0x35xD8x100 [R4. 0x16xD8x100 | 9.6 | 11.1[14.0[14.0[15.4|19.6 21.4123.8 22.1126.6122.1|26.6125.0]25.0|28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0/45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 (12.7 (16.6]15.1]16.6|21.6|21.4(23.3(25.7(24.3|126.2|24.7(30.3(24.7130.3]|27.7|27.7(32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3|21.3 | 29.1 30.3(33.1[32.5|34.8(31.3|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7|39.4 | 41.7|48.3 56. 1 54.4 54. 4 54.7154.7]63.0
12x30xD12x75 |R6. 0x24xD12x75 | 14.9|17.4122.0121.1|23.3|28.7|28.3]33.1|36.4(32.9|35.5(32.6|39.4(32.7|39.4(37.0(37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5)|148.6|52.4143.5|47.3|143.6|47.3147.0|47.0|53.0
12x50xD12x150 |R6. 0x24xD12x150| 34. 3 | 40.0 | 50.7]49.3|52. 1| 60.3 72.9 70.7 70.7 77.6177.6]85.6
14x35xD14x80 |R7.0x28xD14x80 | 25. 6| 29.7 32.3]34.1 49.3 54. 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57.9 64. 6] 68.3 95.4 91.2 91.1 100. 6|100. 6
16x40xD16x100 R8. 0x32xD16x100| 35. 7 | 38. 9 51.0153.0 63.6174.0 67. 73 [72.8 72.9 78.7178.7191.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0(91.0 129.0 116.3 116.3 127.6|127. 6[143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1165.1 89.7 82.3]|87.9188.4 88.4 96.7196.7(111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3|101.3 148. 1 153. 1 153. 1
20x40xD20x100 |R10x40xD20x100 | 52.7 | 57. 6 73.1]75.9 95.31106.7 93.51102.9|105. 5 105. 4] 115.7|115.7(133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3|1196. 3(220.0
55 ° SIS o458 sy alh Jluma lina Gl ks 55 ° o35S 5158 4y dU Gl Galw 05l 5158 adly sly ol 2 ailon sl Sl 550 o5l 8 SlsS adly db o [ Dl eays) Hhd 5 500

55° Decimal Point Non-Standard Flat-End Milling Cutter ~ 55° Decimal Point Non-Standard Ball End Milling Cutter

1+ 3HRC 48 Jlins o5 (A5S gaY
Small Diameter Long Neck Flat-End Milling Cutter
| Can Cut Steel Below 60 HRC

1+ 0HRC o5 Jlns o8 (AsS g uY

Small Diameter Long Neck Ball-End Milling Cutter

Can Cut Steel Below 60 HRC '
s . &

RL ———— - j‘D=4mm

*HJ L=50mm At

D1. 1-D3. 9xD4x50 4.3 R0. 6-R1. 9xD4x50 4.7 L1 AL 455038
D4. 1-D5. 9xD6x50 6.9 iy asia g s G0 A RO 1an
D6. 1-D7. 9xD8x60 12.4 RO 5-RT. 5xDAxT5 59 0.3 4.6 0.3 | 2/3/4 46 | 53
D8. 1-D9. 9xD10x75 204 RO B_R1. 5xDAx100 76 0.4 |2/3/4/5/6 4.6 | 5.3 0.4 |2/3/4/5/6 4.6 | 5.3
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 4.6 5.3 0.5 | 2/3/4/6/8 4.6 5.3
LB G 6 I RO. 5-R2. 5xD6x75 10.7 0.6 |2/3/4/6/8 4.6 | 5.3 0.6 |2/3/4/6/8 4.6 | 53
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 |3/4/6/8/10 4.6 | 5.3 0.7 |3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 lisy aynsi s U0 A RO, 25mm 0.8 |3/4/6/8/10 4.6 | 5.3 0.8 |3/4/6/8/10 4.6 | 5.3
D1. 0-D4. 0xD6x50 6.4 "Rax120 20.7 0.9 | 3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 96 RAx200 136 1.0 |6/8/10/12/15/20) 3.9 | 4.6 1.0 |6/8/10/12/15/20| 4.6 | 5.3
D1. 0-D5. 0xD6x100 1.9 Rex120 4 1.5 |6/8/10/12/15/20| 3.9 | 4.6 1.5 | 6/8/10/12/15/20) 4.6 | 53
T o R5x200 203 2.0 |8/10/12/15/20 | 3.9 | 4.6 2.0 |8/10/12/15/20 | 4.6 | 5.3
xUex : Ré6x120 42 6 2.5 10/12/15/20 3.9 | 4.6 2.5 10/12/15/20 4.6 | 53
D4x15xD4x50 4.0 ' o - & S 55 S8 3 g 3 ol 3 it TS B om0 2373
D6x20xD6x50 4o R6x200 86.9 ?’T:H’p;cwfii:f; S 558 OIS 3 sk 5 hd b Sle s B : 55 £ o o= 2
D8x30xD8x60 12.4 R8x200 154.7 Micro-Diameter Ball-End Milling Cutter Can Cut Small Diameter Long Neck Round Nose Flat End Miling Cutter
D8x40xD8x120 20.7 R10x200 222.9 Steel Below 60 HRC e [ o-
D10x30xD10x75 P s LRSS | b, = e — L
. icro-Diameter Flat-En illin utter Can Cut T« = = .
D10x35xD10x75 20.4 Steel Below 60 HRC ¢ n R*Mu somm it mm D1 R L1 IR
D10x50xD10x100 26.1 D1 £ IR D=4mm ! ' D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 LH*U L=50mm ot D1RO. 2 4/6/8/10 10.3
D10x200 64.3 D1.5R0. 1| 6/8/10/12 10.3
D12x35xD12x75 27.4 D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 D2RO. 1 8/10/12/16 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2R0. 2 8/10/12/16 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4RO0. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4R0. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6

g2 45 Juld 43),} oed sl LST-'M"“ cxi,gjé K C_).'l 4.3)}:3_
\L\.AT!.A: _\J.:ﬂ R 5JM; LSTELS\:!)A‘ R RSS )55 42,
sopdy SQIUTL o Wikl g ,) 433 5 4w S 5uld 48 eva@mzgtool.cn

http:// www.mzg.tw


http://www.mzg.tw

OIS LIS (g gl g

Cemented Carbide Cutter

Al oy 5[ 8 i gal) [ CLLST (SIS aal 5 Lalle SisT e 2 Sl ol

03[ 8 Kl yi (55l GulF 3ol GRR[TR

i 00 (s yiaS s S sy
Single-Edge Acrylic / Aluminium Milling Cutter ~ °° wi=s! 1 HRC 5 (1S SR 53958 2 il X D1.<%FID TR gteRe(\:T—GrooiéideM\Hing
3-Edged Taper Milling Cutter For Tungsten fj‘:" I ErE— Cu“erca” Cut Steel Below 55 HRC
Steel Can Cut Steel Below 55 HRC " > L ! o1 ’* D2
D1Em— D 5 5 . = %
L1 L D1 a° L1 D2 D L 3F D1 a° L1 D2 D L 3F uUSsD 4_',}m A
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L UsD
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
45 18 W D1x1.5°%4LxD1. 21xD4x50Lx3F | 6.9  DAx1.5°x15LxD4. 79xD6x50Lx3F |11.9 D4x1HxD1.5xD6x50 | 6.4
L EEMEHEILESAES D1x2°x4LxD1. 28xD4x50Lx3F 6.9 D4x2°x15LxD5. 04xD6x50Lx3F  |11.9 D4x1.5HxD1. 5xD6x50 | 6. 4
D1 L1 DL D1x3°x4LxD1. 42xD4x50Lx3F 6.9  D4x3°x15LxD5. 57xD6x50Lx3F 11.9  D4x2HxD1. 5xD6x50 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6. 9 D4x8°x14. 93LxD8xD8x60Lx3F  [18.1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1. 5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F [28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6.9 D4x15°x14. 93LxD12xD12x75Lx3F|39. &6 D6x1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2. 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9 D6x1.5°x20LxD7. 05xD8x60Lx3F |18. 1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2. 5x15xD3. 175x50 2.0 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 16 9
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3.5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1. 5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 26.9 D8x2HxD3. 5xD8x60 16.9
D3 175x15xD3. 175x50 | 2.0 | 4.0 | 4 3 D2x2°x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F [39. 6 D8x3HxD3.5xD8x60 | 16.9
2 UARICELIES, 1) Aok : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F  139. 6 D10x0. 5HxD4xD10x75 | 24. 6
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 pjy50,60 xD3. 05xD4x50Lx3F 6.9 DBx0.5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1  D3x10°x10LxD6. 53xD8x60Lx3F | 18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 | 5.4 | 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 | 5.4 | 6.1 Ol ey slR OV Gas,aT Jha OIalTD Sl 5y)0dhBes she o200 (5 % peiona Cl 533 OIBLIR
D4x22xD4x50 4.7 | 5.4 | 6.1 20 ape & o LS ool Tr S S SHRC S JaS Y 8 e o S Gl e n
Tungsten g’t%\ In r‘a{ MiTlthg éétter Tungsten Steel Dovetail Groove Milling oA 2 HRC Y )'\- AT AR N °(
D4x25xD4x50 5.3 5.7 6.4 Can Cut Steel Below 55 HRC CunerCan Cut Steel Below 60 HRC T ten Steel Straight G
DOBD:50 oo |71 |19 0 il e cen Soel”
D4x42xD4x60 10.3 | 12.1 [12.9 D@f"‘"‘_"”‘“ 1 ‘1— BelowSSHRCEZ S
D4x52xD4x70 13.3 |17.1 |17.9 Lt \LJ ) :
Déx12xDéx50 9.3 | 10,0 [11.4 S - —— 30" > T— 1 D
D6x15xD6x50 9.3 (100 |11.4 e - St ! L |
Dé6x17xD6x50 9.3 [10.0 [ 11.4 DIR-D:L UsD_§ Dig* D2:L1D-L .
D6x22xD6x50 9.3 110.0 [11.4 D4RO0. 5xD4x50 6.7  D4x90°xD1. 5x6xD4x50 | 6. 4 4155 435038
D6x25xD6x50 9.3 110.0 1 11.4 D4R0. 75xD4x50 6.7  D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7  DBx90°xD3x6xD8x50 16.9  D1xD4x50L 46150
D6x32xDéx50 11.1112.9 [14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 (17.7 | 19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 46150
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 46150
D6x62xD6x80 25.0 132.1 33.6 D8R2. 0xD8x50 20.0 D5x50L 8.69.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7 133.3 [ 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6|14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
B}gxggxglgxgg gg g gg ; ig- g D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
X9ZX X . . . NS BT ol el B3 2 033 s A0 5 5 Jalh o5 &
D12x20xD12x50 46.9 | 50,0 | 53.6 PO AR Aot G U G
D12x32xD12x50 46.9 150.0 | 53.6 26 SHRC 2 1 1S i purmt & St me g S BC
23 il ST 0 e Gaia Ol a9 Clas [0 b el CplBal 2 Stosl Inverted Gone Dia. Frams " Use0f Fixed Point Ang chamfer Oan Cut
Splra\-Edg:d Tjngstén Sfee\ Reamer Tungsten Steel Drills Tungsten Steel Bar Gan Cut Steal Below 55 PG SteclBelowsBHRe
Can Cut Steel Below 55 HRC D{WID ) — b
Zﬁ—ﬂ }D %o o e L T ﬁ>\ ) L ;
R k d
D1 L1 L 118° #)ﬁ-ﬁ“: - " ‘ ke S
43 1S5 ‘ 4351805
D1 L1DLT — - - D1 L1DL
D3x50xD3x100Lx4T 7.6 43188 SIS s 15xD4x50 4.0 (s ] 5551 3,3) ©258
D4x50xD4x100Lx4T | 8.1 usp CEEEEERE Dox30xD6x100 11.1 . -
D5x50xD5x100Lx6T 1.1 D1.0-D1.5 1.9  D3x100L 2.4 3.6 D8x30xD8x60 12.1 45435
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.91 6.0 D10x30xD10x75 20.4
D8x50xD8x100Lx6T | 21.1 D2.1-D2.5 2.6 D5x100L 6.1 1 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3]3.9
D10x50xD10x100Lx6T | 30. 7  D2.6-D3.0 3.3 D6x100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40. 7 B’;‘ l—gi.g j. g 3%1?8{3'_ 12?1.‘31 g;l D12x50xD12x100 34.7 D2xD4x50L 3.313.9
rY . O~ 5 . X . .
o2 Al O ol D4. 1-D4. 5 5.4 D12x100L 31 1| 26 9 _D16x00xDT6x100 | 57.9 BSi%‘éﬁ"L AR
00 Jre b 158 JalS saill D4. 6-D5.0 6.9 S L DAKSOL 3.3 3.9
raight-! ed Tungsten Steel Reamer = B3 Gl oee sl Jlenin 900 g3 SO 2
Can Gt Stenr Below SE HRC - U, b o o3 s G s HRG £ e, oy DAX100L 61169
I%}D gg 16:32 g 191' 61 Double Head 'gufngsten Steel Fixed-point ggi?glal_ 162 01 162 At?
- . . Drill Dual Use Fixed Point And . .
D'”‘—" L1 L ‘ D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC D6X50L 6.0 6.4
o IR C— y BRRE 2 2
= . 0l . . X . .
D1 L1 DL T USD D8. 1-D8. 5 22.4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9119.3
D4x50xD4x100Lx4T 6.4 D9.1-D9.5 28.3 SRS D10x100L 27.1128.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D12x75L 25.4|27.1
D6x50xD6x100LXx6T 9.6 D10.1-D10.5 35.7 D3x100L-DB 7.4 1 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T | 14.6  D10.6-D11.0 | 37.4 D4x100L-DB 7.4 8.1 D14x100L 51.4]52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 46.0 D5x100L-DB 14.3115.0 D16x100L 64.0|65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6196.9
(243 Jald ‘ﬁJ:} ouad ) Ls,gﬂ.a GIRIT IR i).\ 43)5:3_
\LLA;!S _\J:.d K} 5Jl\,\ 6&1.5\.7_\).4\ R JS )}S 49,

(ol Sl o Lkl ofs )] 433] 153 4w 4S 5uld 48 eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

Extrusion Screw Tap

Gl oS ) padul 3 dxsss sl o) g g, S xasn 3l oSl

i (/ Reverse Teeth)
Extrusion Screw Tap

Cadada

(/ Reverse Teeth)

B 71 17.9  Max1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 47 |54  M4x1.5 RH8 | B 26.1 289
RH5 | P 47 |54 M4x2.0 RH8 | B 26.1 |28.9
RH5 | B 4.7 | 5.4 MI6x1.0 RH8 | B 34.0 [ 37.1
A RH6 | P 4.7 | 5.4 Mi6x1.25 RH8 | B 34.0 | 37.1
B e '- RH6 | B 4.7 | 5.4 M6x1.5 RH8 | B 34.0 | 37.1
sl RH7 | P 4.7 | 5.4 M6x2.0 RH8 | B 34.0 | 37.1
3 x s i) oSl Lo RH7 | B 47 |54
(I Reverse Teeth) = RH8 | B 47 | 54  UNFO-80 RH4 | P 57 | 6.1
RH9 | B 47 |54 RH4 | B 57 | 61
mg 2"8- ]§5 Y 191 -30 ]g) g M3. 0x0. 5-80L 8.9 UNC1—-64 RA4 | B 57 61
- Ox0. : -0 3. 0x0. 5-100L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
- 7x0. 175 RH3 | B 7.3 1100 3. 0x0. 5-150L 17.6 | 18.3  TUNC2-56 RH4 | P 57 161
MO. 8x0. 2 RH4 | B 6.7 | 74 3. 0x0. 5L RH6 | B 67 |74 RH4 | B 57 | 61
MO. 9x0. 25 RH4 | B 6.7 | 7.4 350 61000 9.7 [10.4 RH5 | P 57 | 61
M1. 0x0. 25 RH4 | P 53 160 X0 : : : :
M3. 5x0. bLrewsereen | RH6 | B 6.7 | 7.4 RH5 | B 57 | 61
En“ E 5 g 2- 8 M4. 0x0. 35 RH6 | B 71 7.9 UNG2-56-100L 10.0 | 10.7
RHg A g 100 moxs RH6 | B 7.1 | 7.9 UNF2-64 RH5 | B 6.7 | 7.9
03 - : M4. 0x0. 7 RH5 | P 4.7 | 5.4 TUNC3-48 RH5 | B 57 | 61
1. 1x0.25 Enj g ;] ;-Z RH5 | B 4.7 | 5.4 UNF3-56 RH5 | B 7.4 | 7.9
- - RH6 | P 4.7 | 5.4 UNC4-40 RH5 | P 4.7 |54
1. 2x0.25 RH4 | P 53160 RH6 | B 4.7 | 5.4 RH5 | B 4.7 | 5.4
En“ B 53160 RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
S|P 53 160 RH7 | B 4.7 |54 RH6 | B 4.7 | 5.4
O RHS | B 5.3 160 RHS | P 4.7 | 5.4 RH7 | B 4.7 | 5.4
M1'4X0'3 Enj E 7-; Z-g RHS | B 4.7 | 5.4 UNC4-40-100L 10.0 | 10.7
- 4x0. R 2-3 44 RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
: : M4. 0x0. 7-80L 8.9 | 9.7 RH5 | B 7.4 | 7.9
EHF’ g 5. g 2- 8 M4. 0x0. 7-100L 9.7 |10.4 TUNC5-40 RH5 | P 5.3 | 6.0
W1 450, 3-80L 5 oo 1 5% maoxo. 71500 17.6 | 18.3 RH5 | B 53 | 6.0
- xg.g 80 : 4 M4, 0x0. TLrewrsorean | RHO | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
M1. 5x0. Enj g ;] ;-Z 4. 5x0.5 RH7 | B 74 183  UNF5-44 RH6 | B 7.4 | 7.9
- : M4. 5x0. 75 RH7 | B 57 | 69 TUNC6-32 RH5 | P 47 | 5.4
M1. 6x0. 2 RH4 | P 21179 N5, 0x0. 35 RH6 | B 7.4 183 RH5 | B 4.7 | 5.4
W6 RH4 | B 2179 s, 0x0. 5 RH6 | B 7.4 | 8.3 RH6 | P 4.7 | 5.4
- 6x0. 35 RH4 | P 53160 ys5 0x0 8 RH6 | P 53 | 61 RH6 | B 4.7 | 5.4
RH4 | B 53160 RH6 | B 5.3 | 6.1 RH7 | B 4.7 | 5.4
EHF’ P 53160 RH7 | P 5.3 | 6.1 UNC6-32-100L 10.0 | 10.7
5| B 53 |60 RH7 | B 53 |61  UNF6-40 RH6 | P 6.7 | 7.4
1. 6x0. 35-80L 9.7 [10.4 Praci™p SR e | B ey |7
1.7x0. 2 RH4 | B 71 7.9 : ' : :
m1 2 il L1 L0 wsox0.8-80L 9.3 |10.3 TUNC8-32 RH6 | P 50 |57
- 7x0. R 2-3 £9  W5.0x0.8-100L 10.0 | 11.0 RH6 | B 50 |57
: : M5. 0x0. 8-150L 18.3 | 19.3 RH7 | P 50 |57
EH5 P 53 1 6.0 y5 0x0. BLeweseron | RHG6 | B 7.1 | 8.1 RH7 | B 50 |57
> B 5.3 160 g 0x0.5 RH7 | B 74 183  UNG8-32-100L 10.0 | 10.7
M]- g"g- g RH4 | B L1179 e, 0x0. 75 RH7 | B 7.4 |83  UNF8-36 RH7 | B 7.4 | 8.1
M1. 8x0. 35 Enj E 57167 e 0x1.0 RH6 | P 5.3 | 6.1 UNS8-40 RH6 | B 7.4 | 8.1
57 6.7 RH6 | B 53 | 6.1 TUNC10-24 RH6 | P 53 ] 6.0
2. 0x0. 25 RH4 | P 71 7.9 s | b 23 L3S iy | B A A
12, 0x0. 4 Enj E Z; 7-3 RH7 | B 5.3 | 6.1 UNC10-24-100L 10.0 | 11.0
- 0x0. iR I o g : RH8 | B 53 | 6.1 UNC10-24Lrwesoren RH7 | B 7.1 | 8.1
: : M6. Ox1. 0-80L 9.3 [10.3  UNF10-32 RH7 | P 67 | 7.4
Ens E j- ; 5. j Mé. 0x1. 0-100L 10.0 | 11.0 RH7 | B 6.7 | 7.4
RHg § N 2-4 M6. Ox1. 0-150L 18.3 |19.3  UNF10-32-100L 10.0 | 11.0
: : M6. Ox1. OLrewesereen | RH6 | B 7.1 | 8.1 UNF10-32Leeersomee  RH7 | B 7.1 | 8.1
Eng E j- ; 5. j M7.0x0.5 RH7 | B 9.3 [10.4  UNF12-24 RH7 | B 54 |67
AN IS Y g L M70x0.75 RH7 | B 9.3 [10.4  UNF12-28 RH7 | B 67 | 7.6
: : M7.0x1.0 RH7 | B 9.3 [10.4  UNS12-32 RH7 | B 6.7 | 7.6
12, 0x0. 4-80L RH8 | B g-; (5)-‘7‘ M8. 0x0. 5 RH7 | B 9.3 [10.4  UNC1/4-20 RH7 | P 54 167
. AL SO, Me.0x0.75 RH7 | B 9.3 [10.4 RH7 | B 54 |67
2. On0. o e | B 210 weoxto RH7 | B 9.3 [10.4  UNC1/4-20-100L 10.0 | 11.0
e 77— #8.0x1.25 RH7 | B 9.3 | 10.4  UNC1/4-20Lewemeren RH7 | B 7.1 | 8.1
- 2x0. S 2-3 o0 RH9 | B 9.3 [10.4  UNF1/4-28 RH7 | P 67 | 7.6
g Rui 8 o300 me.ox1.25-100L 13.1 | 14.6 RH7 | B 67 |76
M2. 3x0. i I 20120 me.ox1.25-1500 18.9 | 203 UNF1/4-28Leweereen RH7 | B 7.1 | 81
. D Sl 15 MB.O0X1. 5luuern| RH7 | B 11.0 | 12,4 UNEF1/4-32 RH7 | B 67 |76
42 3x0. monorer RHOG L B Lt We.0x0.5 RH7 | B 0.4 [12.1  _UNS1/4-36 RH7 | B 6.7 | 7.6
W o0 32 e 8 P10l We.0x0.75 RH7 | B 10.4 |12.1  UNC5/16-18 RH7 | B 9.3 [10.4
. 3x0. 32 RHe B SL T oo RH7 | B 10.4 | 121 UNG5/16-18Lrwesereen RH7 | B 1.1 12,6
- 5x0. iyl ST meoxt.2s RH7 | B 10.4 | 12.1  UNC5/6-18-100L 13.6 | 15.0
I ST Mox0s RH7 | B 10.4 [12.1  UNF5/16-24 RH7 10.0 | 11.1
i I SO T m0x0.75 RH7 | B 10.4 | 12.1 TUNC3/8-16 RH7 1.0 | 13.1
Mo 8B ST moxto RH7 | B 10.4 | 12.1  UNC3/8-16-100L 15.3 | 16.7
ol Y12 w125 RH7 | B 10.4 | 12.1  UNC3/8-16Lrewsercs  RH7 | B 13.1 | 14.7
e B DT moxts RH7 | B 10.4 | 12.1 _UNC3/8-24 RH7 | B 11.9 [ 13.9
: : RH9 | B 10.4 | 12.1  TUNC7/16-14 RH7 | B 4.6 | 16.4
EH; g j- ; g j M10x1. 5-100L 15.3 | 16.7 _UNF7/16-20 RH7 | B 15.7 117.9
12, 540, 45-80L a0 154 moxt 51500 20.3 | 21.7  UNG1/2-12 RH7 | B 17.1]19.7
290, : - M10x1. 5Leeesereen | RH7 | B 12.6 | 14.0  UNF1/2-20 RH7 | B 17.1 | 19.7
M2. 5x0. 45-100L 9.7 [10.4 Ta1 g R T B o3
M2. 5x0. 45Lenoceresn| RH6 | B 71 |79 : : :
M2 5x0. 22 R 8 L Mi2x0.5 RH7 | B 1.9 |13.9  Wi/8-40 RH6 | P 53|60
- 6x0. : : M12x0. 75 RH7 | B 11.9 [13.9 RH6 | B 53 |60
Eng E j- ; g j M12x1. 0 RH7 | B 11.9 [13.9  W5/32-32 RH7 | B 53|60
o R SO EY x5 RH7 | B 11.9 [13.9  W3/16-24 RH7 | B 53|60
e s ST maxas RH7 | B 1.9 113.9  W1/4-20 RH7 | B 54 |67
: - M12x1. 75 RH7 | B 1.9 1139 W5/16-18 RH7 | B 9.3 [10.4
M2. 6x0. 45-100L 9.7 110.4 RH8 | B 1.9 (13,9 w3/8-16 RH7 | B 11.9 | 13.9
M12x1. 75-100L 19.7 |21.7  W7/16-14 RH7 | B 14.6 | 16. 4
M12x1. 75-150L 22.9 |25.0  W1/2-12 RH7 | B 17.1 | 19.7
M1 2X1. 75LReverseTeeth RH7 B 14.0 16.1

$ 4d Julid 43 ) oud ) GT}.“.A ‘f_'\:g‘)é 3 é).'\ 43 ) g2,
\Lmry'é Aj:.d R jjl\g 673\5\:|JA\ k) 65‘ JJS 42,
ol s SQIU[h e Wadal g )l 433] 150 4458 5uld 4S: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

3 x s 3 53 5) Sl Cuids 4G " 3 xaua @ d sy Sl L Al e
(/ Reverse Teeth) o i : (/ Reverse Teeth) o

= - ———-—-—.} M7.0x0.5 P2 6.7 | 7.9 UNG1/2-12 P3 13.1 | 15.3
Mo | M7. 0x0. 75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
: M7. 0x1. 0 P2 6.0 | 7.4
O M8. 0x0.5 P2 6.7 7.9 W1/8-40 P1 4.7 | 5.4
M8. 0x0. 75 P3 6.7 | 7.9  W5/32-32 P2 4.7 | 5.4
RET— @ s 0x1.0 P3 6.7 | 7.9 W3/16-24 P2 4.7 | 5.4
e M8. Ox1. 25 P3 6.0 | 7.4 W7/32-24 P2 4.7 | 5.7
b P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
S xssa s Sl M8. Ox1. 25-100L 12.6 W5/16-18 P2 6.0 | 7.4
(/ Reverse Teeth) M8. Ox1. 25-150L 18.3 W3/8-16 P2 7.9 1 9.6
M8. Ox1. 25 comice P4 43.3  W7/16-14 P3 1.9 [13.9
M1. 0x0. 25 P1 53160 “y9 0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
M. 2x0. 25 P1 53 160  wooxi o P3 83 | 10
m-ixg- %5 Carids Ef — 275- 40 M9. 0x1. 25 P3 7.9 | 9.6 PS1/8-28 coiee P4 56.4
M1-4X0- e o 25y wioxos P2 8.3 | 10 PS1/4-19 carsice P4 91.7
ot 0 25 0o Mmox0.75 P3 8.3 | 10 PT1/8-28 carice P4 62.9
e i : M10x1. 0 P3 8.3 | 10 PT1/4-19 carice P4 95.7
- ax. : M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4 M10x1.5 P3 7.9 9.6
M1.5x0. 3 P2 5.7 6.7 ’ P4 7: 9 9: 6 NPS1/8-27 cavie P4 56 4
M1. 6x0. 2 P2 6.7 | 74 m10x1. 5-100L 14.6 NPS1/4-18 cavise P4 91.7
M1. 6x0. 35 P2 53 160 Miox1.5-150L 19.7 NPT1/8-27 cavise P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 511 NPT1/4-18 cunae P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
M. 7x0. 35 P2 53 60 w205 =) o131
M1. 7x0. 35 cooe P2 21.0 : : '
e 5 77177 M2x0.75 P3 11.0 | 13.1
M1-8X0- 35 P2 27 e M0 P4 11.0 | 13.1
- OXL. : : M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
e o5 JhlEy mxts P3 11.0 | 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
51 2o |2y m2x1.75-100L 18.9
5 G, AL 54 : M12x1. 75-150L 22.4
Y oxo' 4-100L 93 M12x1. 75 carice P4 62.9
b : M14x1.0 P3 17.1 [19.7
MZ. OXO. 4 Carbide P3 19.7
= = 554 Maxi.25 P3 17.1 119.7
- X : : M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
W 5 e M4x2.0 P2 15.7 | 18.3
N2 5X0' 35 P2 o7 171 M16x1.0 P3 19.7 | 22.4
M. 5"0- 45 b7 275, Mext.25 P3 19.7 | 22.4
X P3 27 |2, Mmoext5 P3 19.7 | 22.4
o) Lol an mex2.0 P4 18.3 | 21
M2. 5x0. 45-80L 8.3 N
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 | 7.4 —Uncz56 57 £ 3 3
M2. 6x0. 45 P2 4.7 | 5.4 pa 53 0
M2. 6x0. 45-100L 9.3 LA :
M3. 0x0. 35 P2 47 | 5.4 3“,?%_22 (il P2 Z? 74
M3. 0x0. 5 P2 4.0 | 47 “UNc3-48 ) 573 3
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4—40 P2 47 | 5.4
+0. 1 4.7 | 5.4 P3 47 | 54
M3. 0x0. 5-80L 8.3 1 47 | 54
M3. 0x0. 5-100L 9.3 UNGA—40-100L 9 6 '
M3. 0x0. 5-150L 17.1 UNF4—48 P2 67 |74
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3. 5x0. 6-100L 9.3 UNG5-40-100L 9 6 '
M4. 0x0. 35 P2 6.7 [ 7.4 Unce=32 5 7757
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 |54
M4. 0x0. 7 P2 4.0 | 4.7 P4 47 | 54
o S0 |40 unce-32-100L 9.6
o 2o |5, UNF6-40 P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 47 | 54
M4. 0x0. 7-100L 9.3 P4 47 | 54
M4. 0x0. 7-150L 17.1 UNGB=32-100L 9 6 '
M4. 0x0. 7 carsice P3 197 UNF8-36 P2 67 | 74
mg 8"8- g ﬁ; j- g g g UNC10-24 P2 47 |57
2\ o5 2o |2 UNc1o-24-100L 9.6
o) 2o | 2o UNF10-32 P2 4.7 | 5.7
o 2o |25 UNF10-32-100L 9.6
. i - a6 | UNCT2-24 P2 4.7 | 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 1 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 carsice P3 21.0 P4 47 | 57
mg- 8"8- ?5 ﬁ; j- ; g ; UNG1/4-20~100L 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
aL2lle P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
51 2o |2 _UNEF1/4-36 P2 6.7 | 7.6
o 47 |25 UNcs/16-18 P3 6.0 | 7.4
e T : >l UNC5/6-18-100L 13.1
MG, 0X1-0_100L 94 UNF5/16-24 P2 7.4 | 8.6
MG, o§1'o—150|_ 7.9 UNC3/8-16 P3 7.9 9.6
M6, Ox1. 0 carne P3 |24 UNC3/8-16-100L “
2 Wl U emiio : UNF3/8-24 P2 9.3 |10.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7
4l Jalld 43y oud ) (_,,_ﬁﬂ..o ci\ﬂjé ) t).] 4.3)}:3_
\lmrg'é J‘,):!.X k) _5‘)“.} ";71\5\:1‘)44\ . ‘55 J_;S 42, http//WWW mzg tw

ol s SAIGLh s kel ofs )1 433015 4w S suli 4S: eva@mzgtool.cn


http://www.mzg.tw

QR sy0de

Spiral Grooved Tap

SIRso0d Sxsse M) oSl L gg,
Spiral Grooved Tap (¢ Revaies i)

3 x s ) 3350 Sl

s Jxé.ss;:gﬂ}“)}] ol Cuigha s

(/ Reverse Teeth)

(/ Reverse Teeth)

e — +0.1] 4.7 | 5.4 M12x0.75 P2 [11.0]13.1 UNF1/4-28 6.717.6
mﬂ"”"“_ﬁ P2 | 4 |47 M2x1.0 P2 |11.0]13.1 P4| 6.7 (7.6
) T P3 4 4.7 P2 1110131 UNF1/4-28-HT> e 1B 7.4
e M4. 0x0. 7-100L P AT m%ﬂ g'éﬂevefsﬂeem P4 1101131 UNF/4-28 s o g2 2-471 gz
. M4. 0x0. 7-150L : g : -7 UNEF1/4-32 : .
S ——— M 0x0. AL 17.1 P2 | 11.0|13.1 |NS1/4-36 P2|67]7.6
M4. 0x0. 7-HT o s P2 4 4 m %X}-gSLReverseTee(h P4 |11.0/13.1 UNC5/16-18 P2 1607 4
sk e 1B 4.7 6.1 x1. P2 [12.6[14.7 P3| 6.0 7.4
3 x e san ) ol L 4“:;" 2"2' ZLREV“”%‘“ P2 |4.7|5.7 P2 [11.0]13.1 P4| 60|74
(/ Reverse Teeth) = = ’ P2 | 4.7 | 5.4 M12x1. 5Lreverse Teetn P4 111.0013.1 UNG5/16-18-100L 13.1
P3 | 4.7 54 M2x1.75 P2 |12.6(14.7 UNC5/16~18-AL P2 | 6.7
M1. 0x0. 25 P1]5.3]6.0 P4 | 4.7 | 5.4 +0.1/11.01]13.1
P2 1 53] 60 M5 0x0. 5Lreversereen : : S © ), UNC5/16-18-HTs s | 1B 7.9 1 8.3
: 0 4B 0x0. B P2 |5.7]6.9 P2 |10.412.6 \wa Too Pl 74186
P3| 53160 Moo +0.1| 4.7 | 5.4 P3 [10.4|12.6 S
AR - 5% UNF5/16-24 P21 74186
P415.316.0 P2 | 4 | 4.7 M2x1.75-100L P4 [10.4[12.6 P4|7.4|86
M1.2x0. 25 P1 5360 P3| 4 |47 M2x1.75-150L 18.9 R 1B 10.0
P2 | 5360 pa | 4 |47 WM2x1.75-AL 22.4 | p2]9.3]10.4
P3| 5.3 6.0 M5 0x0.8-100L 9.6 M12x1. 75-HT » P2 10. 4 YUNF5/16—24trewerereer . -
M5. 0x0. 8-150L y 2o e \ C3/8-16 P217.919.6
P4153160 B o0 AL 17.9 M12x1. 75Lcoersereen | 1B | 11.9[12.6 UN P3| 7.9 9.6
M1. 4x0. 2 P1 67|74 M5. 0 0' 8-HT+ P2 4 4 M14x1.0 P2 112.1114.7 Pal79196
M1. 4x0. 3 P115.3]6.0 X S4B 47|61 M4x1.25 P2 [17.1]19.7 14.7
P2|5.3|6.0 M5 0x0.8lroenotoon | py | 4.7 |57 WM4x1.5 P2 |17.1]19.7 UNG3/8-16-100L P2 | 83
P3 153 6.0 "Mo-OXU.5 P2 | 4.7 54 M4x2.0 P2 [17.119.7 UNC3/8-16-AL 1819610 4
P4 | 53|60 P3| 4.7 |57 _M6x1.0 P2 |15.7]18.3 UNG3/8-16-HTo e | p) | o 4 |11 g
M1.5x0. 3 P1]16.7]7.4 6. 0x0. 5L PA | 4.7 |57 M6x1.25 P2 |119.7]22.9 UNG3/8—16LRreverse Teetn P21 9.3110.7
M1. 6x0. 2 Pl 6774 - 0%0. Slreverseteetn | py | 5.7 | 6.9 M16x1.5 P2 [19.7[22.9 UNF3/8-24 pa 03|10 7
M1. 6x0. 35 P1]53]60 M6.0x0.75 P2 | 4.7 5.7 M6x2.0 P2 |19.7|22.9 B 1121
ECZ’; g g 2 g gi 3 ? g ; UNFO-80 pe1e.3 21.4 Huggig_giimu“ P2 111.0112.6
Pa|5.3| 6.0 MNOOXD. TSlnenerear by |57 1 6.9 UNG1-pa PL153] 6 Unsgrgay b2 23107
M1. 6x0. 35-HT- s | 1B 6.9 - Ox L +0.1| 4.7 | 5.7 UNF1-72 P115.3] 6 UNC7/16-14 P2 [12.6]14.7
M1.7x0. 2 P1 16774 P24 1 5 _UNC2-56 PI 1671 7.4 "UNF7/16-20 P2 [13.1]15.3
wiTess e s ST E wes | BT
: "0 M6.0x1.0-100L ' UNF1/2-20
P3| 53|60 9.6 P3 | 5.3 6
Pa| 53|60 M6-Ot.0T150L 17.9 UNG2-56-100L P4 53| 6 w/s-a0 S A
M1. 8x0. 2 Pl 6774 - 31, P2 | 4 | 4 UNG2-56-HTo 9.6 W5/32-32 P2|4.7|5.4
M1_8x0. 35 Pl |57 67 Me.Ox1.OHTepe | 45| 47|61 (N4 1B 161169 wa/16-24 P2 | 47|57
M2. 0x0. 25 P1 | 6.7]7 4 M6 0x1.0lreverseteetn | P2 | 4.7 | 5.7 | INC3-48 P1 | 6.7 1|74 W7/32-24 Py 4' 7 5' 7
+ WM7.0x0.5 P2 | 6.7]7.9 = Pl |53 6 : :
M2. 0x0. 4 0.1 5.3]6.0 UNF3-56 W1/4-20 P21 60174
PII4.7 )54 o 0 0 o E‘zl 2. 7 7.3 UNCA=40 E] 2- 7 g-j W5/16-18 P2179196
P2 | 4.7 5.4 - 0x0. 7|7 7 | 5. ° - :
P3| 47|54 P4 | 67|79 P2 | 47|54 %?61_?4 E% ]13‘19 ]gg
pa| 47|54 M7.0x0.75Lrewersereen| P2 | 7.9 | 9.3 P3 | 4.7 |5.4 Wi/2-12 . .
M2. 0x0. 4-100L 9.3 L= 8l 0 P20 74 unea-do-t00L Pa| 4754 .
s P1| 47|47 -4 UNC4-40-AL - 98 e o ] '
N2, 040, 4-HT - 18[54 67 M.OKIOlewsnern | P2 | 7.4 | 8.6 \noadaotTop | P2 |47 e, O | 224
o oo dr | Pl 57|67 WBOXOB 2167179 unpats = 18 | 5.4 |67 PSI/AI S S 7.9
'''' ) T P1]6.7]7.4 PA1 671 7.9 Nes—ag Pl | 6.7 ] 7.4 PS1/4-18 20 3
iy Pl 47|54 M8.0x0.75 P2 | 6. 30\ UNGE=AO100L PL[ 4TS24 PS1/A195 e 5t el
—2x0-45 Pl 247 54 . . _ . —18 e S0 5l p ’
W20 pi | 57|87 M8.0X0. 5lanessren| P2 | 7.9 | 9.3 UNFS-44 02 | 67|74 PS3/8 18%\# 2 17.1
M2. - fot - - M8. 0x1.0 UNG6-32 PS3/8-19 (s Jbxa s 531 52 19.7
P1 16774 P2 | 6.7|7.9 P2 | 4.7 |5.4
M2. 5x0. 35 : : PS1/2-14 Jlza S0 al b 25.0
+0.11 5.3 ] 6.0 P4 16.7|7.9 P3 | 4.7 |54 = =
M2. 5x0. 45 sl 9 5 M8.0x1. OLreverseweets | P2 | 7.9 | 9.3 P4 | 4.7 | 5.4 PS1/2-14¢ town s5ld 41,9
PI | 47|54 Lo X e : 2 UNC6-32-100L - : < Dmenc” 1| 419
P2 47|54 . Ox1. +g_21 6_67 ;_3 UNC6—32-AL 9 Z.(; PS3/4-14 s JSanéa 5 :
P3| 4.7 5.4 : 39— : PST—11 5 ke 5 535
P4 | 4.7 5.4 P3| 6 | 7.4 (LOOTRHTE | 1B | 54|67 psiqiip L
‘ ' P4 | 6 | 7.4 =32l ReverseTeetn | pp | 5.7 | 6.7 : -
M2.5x0.45-100L | | 75| W8.Ox1.25-100L 12.6 UNF6-40 P2 |6.7|7.4 . |10.4
M2. 5x0. 45-AL B8 67 M8. 0x1. 25-150L 18.3 tUNC8=32 P2 4754 PT1/16—28;__§‘)1.—1M ssSxn 15,7
M2.5x0. 45-HT o e | 0| 200 | 000 M. 0x1. 25-AL P2 6 p3 | 47|54 PT1/8-28usimecssiin  [19.7
M2 5x0: 45breemsrean| 1 |57 [ 7 4 MB.Ox1.25-HTe e | 1B | 7.4 | 7.9 i P4 | 4.7 | 5.4 PT1/4-19 e 551 42128
M2. 6x0. 35 ' ) M8. Ox1. 25l reverseeey P2 | 7.4 | 8.6 e 9.6 PT3/8-19 & _lixs s 53 -
M2. 6x0. 45 a2 We0x05 P2 (7.9 9 6 UNGB-32-AL P2 | 4.7 BT/ e o
P3| 47|54 M9.0x0.75 P2 | 7.9 ] 9.6 UNCB=32-HTe e 1B | 5.4 6.7 Dbra/aq4 s ool 7.9
pal 47|54 M.Ox1.0 P2 | 7.9 9.6 UNGB=32lrewersereen | P2 | 5.7 | 6.7 GIFLEIIR 1104
o 517" M90X1. OLreeserean | P2 | 10 |11.4 UNF8-36 P2 | 6.7 7.4 PTI-Mg lmagsiby 15.7
M2. 6x0. 45-100L p1| 57|67 M.0x1.25 P2 | 7.9 9.6 UNC10-24 P2 |4.7]5.7 19.7
W2—6x0 A5t oo+ 124~ M10x0.5 P2 | 8.3 10 P3 | 4.7 | 5.7 NPT1/8-27 Jumadduns > |27.6
M3. 0x0. 35 : ’ M10x0. 75 P2 [ 8.3 ]| 10 P4 | 4.7 | 5.7 NPT1/4-18 juxa &%) o 46.0
E% j—; g-j p4 | 8 3] 10  UNG10-24-100L 9.6 s BJQ“ il
pa | 47|54 MOXO. 75Lreerserean | P2 | 10 | 11.4 UNC10-24-AL P2 | 4.7 o e
by | 50|27 mox1.0 P2 | 83| 10 UNG10-24-HT:,s | 1B | 5.4 | 6.7 \T14 14JL»M il
M3. 0X0. 35Lererse et i : P4 | 8.3 ] 10  UNG10-24Lreversoreenn | P2 | 5.7 | 6.9 14 Jlaa 1554 2
M3. 0x0. 5 AT 24 WI0X1. Oleowsarean | P2 | 10 |14 UNF10-32 P2 | 47|57 NPTI-11.1-2
oy | u |y Miox1.25 P2 |8.3] 10 P3 | 4.7 |5.7
: P4 | 8.3 ] 10 P4 | 4.7 5.7
E?x j j-; M10x1. 25Lreesoreens | P2 | 10 |11.4  UNF10-32-100L 9.6
P N LU +0.118.3| 10  UNF10-32-HTs s | 1B 7.4
M3. 0x0. 5-100L ; P2 | 7.9 | 9.6 _UNF10=32L reverseqooss | P2 | 7.4 | 8.3
M3. 0x0. 5-150L e\ P3| 7.9 9.6 "UNG12-24 P2 [4.7 (57
M3. 0x0. 5-AL N A P41 7.9 1 9.6 UNF12-28 P2 16.717.6
M3. 0x0. 5-HT o P2 4' 7 5' 4 M10x1. 5-100L 14.6 UNEF12-32 P2 1 6.7 7.6
M3 0x0 5Lx = - - M10x1. 5-150L 19.7 LINS12=36. P2 | 6.7 1|76
. . everse Teel 9 3 .
W3- 5%0-6=T00L M10x1. 5-AL P2 7.9 UNC1/4-20 P2 | 4.7 |57
-5x0. P2 | 4.7 5.4
M10x1. 5-HT > e 1B 9.3 10 P3 | 4.7 | 5.7
M4. 0x0. 35 P2 47|54
M4. 0x0. 5 : : M10x 1. 5L overse tects P2 | 9.6 | 11 UNG1/4-20 P4 | 4.7 15.7
P3| 47|54 P2 | 11 [13.1 9.6
i |4 o2 M1x0.5 -1 UNG1/4-20-100L :
0 | 50| a7 M1x0.75 P21 11 11301 UNG1/4-20-AL P2 1 4.7
M4. 0X0. BLrevere et B R [N ES P2 T 13T UNG1/4-20-HT e e | 1B | 541 67
M11x1.5 P2 (10.4|12.6 UNG1/4=20L feveree et P2 15.7 6.9

6343 Jaldi adjy ud ) alle (S8 3 F i Al g
- G 3l 3 5l S jael 3 (S S Ay,
ol Sl 5 Ll (s ) 4115 4058 5uli 4S @VA@mMzgtool.cn http://www.mzg.tw


http://www.mzg.tw

D) )jSJ.u / t_}:b‘uy &)

Hand Tap/Circular Die

HT QLD asdias 2 3 xase sy ) &) . AR-D 4S8 e (A58 pu y5 Gulas 3 xase sy ) )
HT Straight Wire Tap (/ Reverse Teeth) AR-D Adjustable Circular Die (/ Reverse Teeth)
UNFO-80 P1 4.3 UNFO-80 9
e UNC1—64 P1 43 UNC1—64 20 | 10.4
UNF1-72 P1 5.0 UNF1-72 20 | 1.9
UNC2-56 P1 43 UNC2-56 20 | 10.4
UNF2-64 P1 5.0 UNC3-48 20 | 10.4
UNC3-48 P1 4.3 UNF3-56 20 | 11.9
UNF3-56 P1 5.0 o UNC4-40 20 | 10.4
UNC4—40 P2 4.0 : UNF4-48 20 | 11.9
Sxess syl oSl L . P3 4.0 |PEEEEEETREN . . UNC5-40 20 10. 4
(/ Reverse Teeth) = & UNF4-48 P2 4.7 (/ Reverse Teeth) o UNC6-32 20 10. 4
TR b | ug oo 7 40 025 o0 | s NG 0 | 1
M1.2x0. 25 P1 43 e = T M1.2x0.25 20\ |-13.1 [ % | 119
M. 6x0. 35 P1 4.3 i 2o M4x0.3 20 | 131 uNGlouad % | o4
M1.7x0.35 P1 4.3 [ o Lo MII5x0.3 20 | 131 UNFl0-32 % | 119
M1.8x0. 35 P1 4.3, . = o M1.éx0.35 20 | 131 UNGlo—d % | %
M2, 0x0. 25 P1 2.7 P 2o M7x0.35 20 | 131 UNF12-28 % | i1
M2. 0x0. 4 P2 2.0 [ o L7 MI.8x0.35 20 | 13,1 lmei7acon % | 104
Pl 40 uncto-24 P2 | 4.0 M2.0x0.25 2001 1LY UNF1/4-28 20 | 11.9
40 UNF10-32 P2 | 47 ¥2.0x0.4 2001 194 uNs1/4-32 20 | 11.9
W2. 2x0. 25 P1 47  DiiE=e = 30 M2.0x0. dlewesowen | 20 | 11.9 uEet7ict, % | 119
M2. 2x0. 45 P2 4.0 NS o L5 M2.2x0.25 20 | 119 UNes/16-18 2 | 110
2. 3x0.25 ohol 47 Tunct/a-20 P2 | 40 M2.2x0.45 201104 uNF5/16-24 25 | 13.1
2. 3x0.4 P2 | 40 uNF1/4-28 P2 | 47 M23x0.4 20 104 yNg3/g-16 25 | 11.9
M2. 5x0. 35 P 27 REh o L M2.5x0.35 20 | 119 NFa/a-24 & | 131
2. 5x0. 45 P2l 49 Tuncs/16-18 P3| 5.3 M2.5:0.45 2001 104 uNe7/16-14 25 | 11.9
P3 40 KiEqiEl o 27 M2.5x0. 45Lneesead 20 | 11.9  WETICT0 A B
P4 40 UNEF5/16-32 P3| 67 M2.0x0.35 2001 119 uNet/2-12 25 | 11.9
W2. 6x0. 35 P2 47 Sk =D o S5 M2.6x0.45 20 | 10,4 (NF1/a20 2 | s
M2. 6x0. 45 P2 40 Bl B o o1 M3.0x0.35 20 [ 11.9 :
P9l 49 UNEFs/s-32 P3| 81 M3.0x0.5 2001 194 wi/g-40 20 | 10.4
PA_ | 4.0 -Ne7riect4 = 55— M3.0x0 leaenereen | 20 | 11.9  persot, 5 | 104
M3. 0x0. 35 P21 AT UNF7/16-20 P3| 10.4 M40x0.35 2001 119 wa/16-24 20 | 104
M3. 0x0. 5 P2 3.3 DR o 55— M4.0x0.5 20 | 19 wiate0 % | 104
Pl 32 uNF1/2-20 P3 | 10.4 M4.0x0.7 2001 192 ws/16-18 25 | 11.9
P4 3.3 7 MA0x0. Thremmeren | 20 | 11.9 el 2 | 459
M3. 5x0. 35 P2 47 Tube Tapping 4. 5x0. 5 20 | 1.9 worteeta 2t WY o
M3. 5x0. 6 P2 3.3 R o7 MA5x0.75 20 | 104 0% 20| 119
P3 3.3 Eg};gbﬂsi-&%ﬁf o7 M5.0x0.35 20 | 11.9 :
P4 3.3 =27 Jxe 1S5 : M5. 0x0. 5 20 | 11.9
W4 0x0. 35 P2 4.7 PS1/8-28 Jume 5 5 5 5/ W5.0x0.8 20 | 10.4
M4. 0x0. 5 P2 4.7 PS1/4-14 Hlae S0 el 2 7_'9 M5. 0x0. 8Lreverse ecth 20 11.9
be | 33 PSI/AI9Gkeasin | 131 & ORh0S % | 104
M4. 0x0. 75 P2 | 4.7  PS3/8718 el 15 MOOKI QLo | 20 | 110
M4. 5x0. 5 P2 4.7  PS3/8-19 s bms 556 0 171 M7.0x0.5 25 13.1
M4. 5x0. 75 P2 3.6 PS1/2-14 e 5ol 2 5y 4 M7.0x0.75 25 | 13.1
5. 0x0. 5 by | 47 PSM2AMelesss | SO0 EREER
R - PS3/4-14 s e 515 38.1 X :
M5. 0x0. 8 P2 3.6 = S M8. 0x0. 75 25 | 13.1
PST=TT o= s b »
L R :1 (N = |
W6. 00, 35 P2 | 53 67 WB.Ox1 2lussmard 25 | 131
M6. 0x0. 5 P2 | 47 PHA62Be gy | BC Tyo,05 | 25 | 131
M6. 0x0. 75 P2 4.7 PT1/8-28 jume 5 5 5 a9 M9.0x0.75 25 | 13.1
M6. 0x1. 0 P2 3.6 PT1/4-19 G tma s 535 2o M9.0x1.0 2% | 13.1
P3 3.6 19 0s e o M9.0x1.25 25 | 11.9
pa | 3¢ 138 Wj)“ = 417 “wiox0.5 25 | 13.1
0x0. 2 N F3 _ 2
7. 0x0. 75 by | 61 PTG, | 67 ok 2% | e
M7.0x1. 0 P2 5.3  PT1I=11¢bas 55 184 66 M10x1. 25 25 13.1
M8. 0x0. 35 P2 7.4 a5 MOx1.5 2% | 11.9
M8. 0x0. 5 P2 6.1 25 0 MO Slreserean | 25 | 13.1
00T | | G wneae | G0 MO L2 1o
M8, 0x1. 25 p2 | 5.3  NPTI/4=18 jLaalial s M12x0. 75 25 | 131
- P3 5.3  NPT3/8-18 e Sl M12x1. 0 25 | 13.1
M9. 0x0. 5 P3 8.1 NPT1/2-14 Jlas g ) 2 M12x1. 25 25 13.1
M9. 0x0. 75 P3 8.1 NPT1/4-14 Jxs 1S5l 2 M12x1.5 2% | 13.1
M9. 0x1. 0 P3 81 NPTI-11.1-2 M12x1. 75 25 | 11.9
M9. 0x1. 25 P3 6.9 M12x1. 75LReverse Teetn 25 13.1
M10x0. 5 P3 8.1 M14x1. 0 38 | 25.0
M10x0. 75 P3 8.1 M14x1. 25 38 | 25.0
M10x1. 0 P3 8.1 M14x1.5 38 | 25.0
M10x1. 25 P3 8.1 M14x2. 0 38 | 23.6
M10x1.5 P3 6.9 M1éx1. 0 38 | 25.0
P4 6.9 M16x1. 25 38 | 25.0
W11x0.5 P3| 10.4 M16x1. 5 38 | 25.0
M11x0. 75 P3 | 104 M16x2. 0 38 | 23.6
M11x1. 0 P3 | 10.4
M11x1.5 P3 9.3
W12x0.5 P3| 10.4
M12x0. 75 P3 | 10.4
M12x1. 0 P3| 10.4
M12x1. 25 P3 | 104
M12x1.5 P3 | 10.4
M12x1.75 P3 9.3
P4 9.3
M14x2. 0 P3| 10.4
M16x2. 0 P3| 131

@2 43 Jald 43 ) ond ) ‘573}\.4 csi\:a)_sa ) é)_'\ 43 ) 92,
C'_\A:\E _\J:gj R 5)1\; L__s:aLS\£JA\ R LSS JJS 42,

ol g SQlli[h e Wadal (pg )l 433 15y 4w 58 5uld 4S: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

6 s oligai
Turning Inserts

X

459y 5[hl Jgaanad 25 gy 5[ B Jganna 3 2513

CCGT060202 CBN1
CCGT060204 CBN1
CCGT060208 GCBN1
CCGTO9T302 CBN1

L CCGTO9T304 GCBN1
CCGTO9T308 GCBN1

] ) CCGT120402 CBN1
(093 sl (e CCGT120404 CBN1
Sigfiyle J pta gilge CCGT120408 CBN1

CCGT060202 PCD1
CCGT060204 PCD1
CCGTO9T302 PCD1
CCGT09T304 PCD1
CCGTO9T308 PCD1
CCGT120402 PCD1
CCGT120404 PCD1
CCGT120408 PCD1

6 CNMG120402 CBN1
: CNMG120404 CBN1
h CNMG120408 CBN1

Eom il s
ks ats 5ol e 0

Qe S
[ NN
oo
000

Q CNMG120402 PCD1

CNMG120404 PCD1
* CNMG120408 PCD1
pri gl gl pese

APATERNT wt |

coo
[ NN
oo
000

CNMG120404-TM ZC25
CNMG120408-TM ZC25
CNMG120412-TM ZC25

CCOOOLOOL o000 oRe
OANORANIN [OANOXNNOAN
00000000 |00
00000000 |0~0-0-0-0-0000

D e
N oo A
oo
oo o

CCGT060202-AL ZK01
CCGT060204-AL ZKO1
CCGT060208-AL ZKO1
CCGT09T302-AL ZK01
CCGT09T304-AL ZKO1
CCGT09T308-AL ZK01
N CCGT120402-AL ZKO1
LB paisall 5) saa s CCGT120404-AL ZKO1

Jseia plisSole CCGT120408-AL ZKO1

CNMG120408R-X ZC25
CNMG120408L-X ZC25

ce
® o
NI
oo

R-X L-X
JsS Gy 3 G 508w 509 0

OO0 00
COBMNOOANONN
PR N = o o s
WWWARRAN—S

CNMG120404-TM ZC35
CNMG120408-TM ZC35

ee
[oo >N

CCMT060204 ZM30
CCMT060208 ZM30
CCMT09T304 ZM30
CCMTO09T308 ZM30
CCMT120404 ZM30
CCMT120408 ZM30

coeeoce
[o o >N N N0 I

NN = = =
AANNOO

U8 Gy el Jginiah o ONMG120404-HA ZKO1 | 0.4 | 2.0
S CNMG120408-HA ZKO1 | 0.8 | 2.0
ilin pti gl 3l sana 3
Leotd suliiSl
COMT060204-FG ZN60 | 0.4 1.7 —
CCMT09T304-FG ZN6O | 0. 4 1.9
CCMT09T308-FG ZN60 | 0.8 1.9 CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
Cpble [A51e AS1e Sl (p(alS o
COMT060202-HQ ZN6O | 0.2 1.7
CCMT060204-HQ ZN60 | 0.4 | 1.7 8“”8]%8283 %ﬁgg 3¢ 20
COMTO9T302-HQ ZN6O | 0.2 1.9 : :
CCMTO9T304-HQ ZN6O | 0.4 1.9
V.:"ds I }| JREE CHA:!S 3 J5SG nle (BlEe gl (S 2
£ i A 3
CNMG120408-HS ZM30 | 0.8 | 2.6
CCMT060204-MT ZN60 | 0.4 | 1.7 R
COMTO9T304-MT ZN6O | 0.8 | 1.9 IS s el bl o
CCMT09T308-MT ZN60 | 0.8 1.9 _
?@ CNMG120404-MA ZM30 | 0.4 | 2.6
LA CNMG120408-MA ZM30 | 0.8 | 2.6
JsS oy i) i
CCGT060202EL-U ZN9O | 0.2 | 4.0
CCGT060204EL-U ZN9O | 0.4 | 4.0
CCGTO9T302EL-U ZN90 | 0.2 | 4.0 CNMG1§°4°4‘MS ZM30 | 0.4 ) 2.6
CCGTO9T304EL-U ZN90 | 0.4 | 4.0 iy 0.8 | 2.6
| PIRPENPEP it
A0SR
CNMG120404-HQ ZN6O | 0.4 | 2.3
-— CNMG120408-HQ ZN6O | 0.8 | 2.3
CCGT060202ER-U ZN9O | 0.2 | 4.0
CCGTO60204ER-U ZN9O | 0.4 | 4.0
B CCGTO9T302ER-U ZN9O | 0.2 | 4.0
 — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 CNMG120404-TS ZN60 0.4 2.3
CNMG120408-TS ZN60 | 0.8 | 2.3

B[l sA 52952
@A) AN

@2 45 Juald 43 ) oud ) ﬁgjLA ‘\;_'\73)5 3 C)_'\ 43 ) g2,

\Lu.Tg'é Jj:.d 2 jjj\.}. gT!L&T!JA\ k) GS J}S 42, .
- oy Sllifh o Wikl gg )l 433 150 4w S 5uld 4S: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

6 532 oligai

Turning Inserts

g gl Jsanna 2233 uUsD

S sl (g
Slafdale d}n.'i& 83l ga 3

DCGT070202 CBN1
DCGT070204 CBN1
DCGT070208 CBN1
DCGT11T301 CBN1
DCGT11T302 CBN1
DCGT11T304 CBN1
DCGT11T308 CBN1
DCGW11T308 CBN1

py)

WO RAN—=0IMN

DCGT070201 PCD1
DCGT070202 PCD1
DCGT070204 PCD1
DCGT070208 PCD1
DCGT11T301 PCD1
DCGT11T302 PCD1
DCGT11T304 PCD1
DCGT11T308 PCD1

POLOOOORe PO eo

OAN—=00AN—

e A SN Al e e e A AR SN AN SR N R o

VOV OVOVOVOVOVOOV || VOVOVOVOOVOVOO

DCGT070202-AL ZKO1
DCGT070204-AL ZKO1
DCGT11T302-AL ZKO1
DCGT11T304-AL ZKO1
DCGT11T308-AL ZKO1

DO OOoo
©ANAN

RN NN N
[e N e N A

S s el didaiaes o

DCMT070204-MV ZM30
DCMT11T304-MV ZM30

oo

~N o

JsS s gl didaiaes o

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

[ooJi=N

~N -~

Baral] 5) (oA he pinS 2

g4 A p

DCMT070204-FG ZN60
DCMT11T302-FA ZN60
DCMT11T304-FG ZN60

ceg
ANN

O O~

{ &

A ) i i

DCMT070202-HQ ZN60
DCMT070204-HQ ZN60
DCMT11T302-HQ ZN60
DCMT11T304-HQ ZN60

Cooo
ANAN

OO NN

(g A ,_é 3

DCGT11T302FL-U ZN90
DCGT11T304FL-U ZN90

e

AN

oo

IR SN

g4 >

DCGT11T302FR-U ZN90
DCGT11T304FR-U ZN90

e o
AN

[eNe)

g5 Jsaana 2

DNMA150404 GBN1 0.4 |69
DNMA150408 GBN1 0.8 | 6.9
e

Siafisle Jogeis gilge
DNMA150404 PCD1 0.4 | 6.9
DNMA150408 PCD1 0.8 | 6.9
a - | DNMG150404-HA ZKO1 | 0.4 |43
- DNMG150408-HA ZKO01 0.8 | 4.3
R DNMG150604-HA ZKO01 0.4 | 4.9
; DNMG150608-HA ZKO01 0.8 | 4.9

i agi gl gl gasa

J gadh pfisala

DNMG110404-FG ZN60 | 0.4 | 2.6

Barjal] o) o3[ he CaadaS 2

) 4 ENET]
DNMG150404-HQ ZN60 | 0.4 | 2.6
DNMG150408-H@ ZN60 | 0.8 | 2.6
DNMG150404L-VF ZN60 | 0.4 | 2.6
£ A A

DNMG150404R-VF ZN60 | 0.4 | 2.6

Hh 5 sl AAie Cudis o
gralAn

(59 45 el 43y uad o) ol (B j3 3 Ji S s,

Ciagd ol o 5l @Sl 2 S S 4g,

G opls Sl Lkl (5, 43375 4a S ouli 4S: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

6 s oligai
Turning Inserts

435 Jsaana 2 5 g5 hl Jsaana d 2233 R
TBGT060102 CBN1 0.2 | 6.9
- TCGT110302 CBN1 0.2 | 6.9
TCGT16T302 CBN1 0.2 | 6.9
S SNWGI20408 GBI | 08 | 69 TGT16T304 GBN1 | 0.4 | 6.9
9 ol g} o ; ‘ TCGT16T308 CBN1 0.8 | 6.9
NI TPGT080202 CBN1 0.2 | 6.9
e TPGT080204 CBN1 0.4 | 6.9
~ TPGT090202 CBN1 0.2 | 6.9
TPGT090204 CBN1 0.4 | 6.9
& s oo
: : TPGT110204 CBN1 0.4 | 6.9
aigdl gl e TPGT110302 CBN1 0.2 | 6.9
Jisaia o[ GaSle S s s) (i TPGT110304 CBN1 0.4 | 6.9
X Bsle Jsala 53 e 2 TPGT110308 CBN1 0.8 | 6.9
i TBGT060102 PCD1 02 | 69
! SNMG120408L-S ZC25 | 0.8 | 2.6 TGGT110202 PCD1 0.2 | 6.9
‘ TCGT110204 PCD1 0.4 | 6.9
. ! TCGT110304 PCD1 0.4 | 6.9
UsS s 3 (5 333 5 05n 533 3 g TCGT16T302 PCD1 0.2 | 6.9
— s TCGT16T304 PCD1 0.4 | 69
4 TCGT16T308 PCD1 0.8 | 6.9
TPGT080202 PCD1 0.2 | 6.9
SNMG120408L-S ZC35 | 0.8 2.6 TPGT080204 PCD1 0.4 | 6.9
TPGT090202 PCD1 0.2 | 6.9
TPGT090204 PCD1 0.4 | 6.9
J5S a5 520 Jalab 3 TPGT110204 PCD1 0.4 | 6.9
- ot sadl, ghJiia TPGT110302 PCD1 0.2 | 6.9
Jgaia cnl Esla TPGT110304 PCD1 0.4 | 6.9
SNMG120408R-S ZC25 0.8 2.6
e | TBGT060102L ZN90 0.2 | 3.4
U s 33 (5 30 5 5t 5303 4 TBGT060104L ZN9O 0.4 | 3.4
oS e 580 9 8 5 ~ TCGT110202L ZN90 0.2 | 34
TCGT110204L ZN90 0.4 | 3.4
. TPGH080202L ZN90 0.2 | 3.4
SNMG120408R-S ZC35 0.8 2.6 1 7 B TPGH080204L ZN90 0.4 3.4
| —— TPGH090202L ZN90 0.2 | 3.4
TPGH090204L ZN90 0.4 | 3.4
JsS D g 6 dalh s 3 TPGH110302L ZN90 0.2 | 3.4
TPGH110304L ZN90 0.4 | 3.4
Baral] ) (oA he CndaS 2
SNMG120408-TM ZC25 0.8 2.6 g4l A
S TBGT060102L-W ZN90 0.2 | 3.4
\ TBGT060104L-W ZN9O 0.4 | 3.4
; TPGT080202L-W ZN90 0.2 | 3.4
: TPGT080204L-W ZN90 0.4 | 3.4
y/ 4. 5N B
£ | pmim | o
SNMG120408-HA ZKO1 | 0.8 | 2.0 : -
T TPGT110302L-W ZN90 0.2 | 3.4
. 2t olet s s S TPET110304L-W ZN9O 0.4 | 3.4
. B @2 A A
TCMT090202-HQ ZN60 | 0.2 | 1.7
. TCMT090204-HQ ZN60 0.4 1.7
SNMG120408-MA ZM30 0.8 2.6 y TCMT110202-HQ ZN60 0.2 1.7
- TCMT110204-HQ ZN60 0.4 1.7
- ﬁ TCMT110208-HQ ZN60 0.8 1.7
JsS s il oo & TCMT16T304-HQ ZN60 0.4 2.4
Lra s ol 50 ie cuiS s | TPMT110304-HQ ZN6O 0.4 .7
SNMG120404-MS ZM30 | 0.4 | 2.6 G2 alA e 08 | 17
JsS o5 dal daladalss 8 TCGT090202-AL ZKO1 | 0.2 | 1.4
3 r TCGT090204-AL ZKO1 0.4 1.4
ke TCGT110202-AL ZKO1 0.2 1.4
SNMG120404-HQ ZN60 | 0.4 | 2.3 f N TCGT110204-AL ZKO1 0.4 1.4
SNMG120404-HQ ZN6O | 0.8 | 2.3 = 17 TCGT110302-AL ZKO1 0.2 1.6
] § TCGT110304-AL ZKO1 0.4 1.6
U5 L s aioel Jaiabaae o — TCGT16T302-AL ZKO1 | 0.2 | 1.7
. : TCGT16T304-AL ZKO1 0.4 A
TCGT16T308-AL ZK01 0.8 1.7
SCMT09T304-MT ZN60 | 0.4 | 1.9 e paigall ) gaaa s
Jsaid [ bSala
N
SCGT09T304-AL ZKO1 0.4 1.4 TCMT110204 ZM30 0.4 1.6
SCGT09T308-AL ZKO1 0.8 1.4 TCMT110208 ZM30 0.8 1.6
SCGT120404-AL ZKO1 0.4 1.9 TCMT16T304 ZM30 0.4 2.3
3 SCGT120408-AL ZKO1 0.8 1.9 TCMT16T308 ZM30 0.8 2.3
R T(}‘s:d ’ IS G 52 o) Jalaiafdh 2

6243 Jald 43 pn (uad 51 ol (S8 2 & 34345

sl s 5l J_Lxﬁ\ &S S 4y,

[EPL)
n G s Sl L) (5, 48875 4058 5uli 4S5 @VA@mMmzgtool.cn http://www.mzg.tw



http://www.mzg.tw

6 sida 5l gi3 o

Turning Inserts

g gl Jsanna d

2233

g5 Jsaana 2

2503

Q / \ TNMG160404L-C ZN60 0.4 .9
TNMA160402 BN 0.2 | 6.9 - () TNMG160408L-C ZN60 | 0.8 9
TNMA160404 CBN1 0.4 | 6.9 —_— ; e
TNMA160408 CBN1 0.8 | 6.9 TNMG160404R-C ZN6O | 0.4 .9
G (gl daas WRC L LiBe. | TNMG160408R-C ZN6O | 0.8 .9
cuhigle ) gels gl sw D i . o gl
T e
Q ' TNMG160404L-S ZN60 0.4 .9
TNMA160402 PCD1 0.2 | 6.9 TNMG160408L-S ZN60 | 0.8 .9
TNMA160404 PCD1 0.4 | 6.9
TNMA160408 PCD1 0.8 | 6.9 TNMG160404R-S ZN6O | 0.4 9
a5l gl e LRzS oo LiSe, | TNMGT60408R-S ZN6O | 0.8 .9
;{ sais o ilill 5 - = = ‘.:;'Jf .

7% : TNMG160404-CQ 2625 | 0.4 | 2.3 AN i TNMG160404L-VF ZN6O | 0.4 .9
jf@\ TNMG160408-CQ 2C25 | 0.8 | 2.3 g 5 TNMG160408L-VF ZN60 | 0.8 .9
— TNMG160404-HQ 2C25 | 0.4 | 2.3 ﬁ h | TNMG160404R-VF ZN60 | 0.4 9

¢ HQ TNMG160408-HQ 2625 | 0.8 | 2.3 JR-VF . L-VE | TNMG160408R-VF ZN6O | 0.8 .9
crl Sl 30 0e 3T 0e Y 5 2 ? A
; 2 T
© | TNMG160404L-S ZC25 | 0.4 | 2.3 \ TNMG160404L-FS ZN6O | 0.4 .9
@ | TNMG160408L-S ZC25 | 0.8 | 2.3 ' TNMG160408L-FS ZN60 | 0.8 .9
NS SRR 1nMG160404R-S ZC25 | 0.4 | 2.3 TNMG160404R-FS ZN60 | 0. 4 9
R-S L-S TNMG160408R-S ZC25 | 0.8 | 2.3 R-FS . L:FS | TNMG160408R-FS ZN6O | 0.8 .9
IS s g3 523 5 5 529 ) ST
ey =
TNMG160404L—S ZC35 | 0.4 | 2.3
TNMG160408L-S 2€35 | 0.8 | 2.3 TNMG160404-HQ ZN6O | 0.4 9
TNMG160404R-S 2635 | 0.4 | 2.3 ULLIEERA AED | 7
R-5 L-3 TNMG160408R-S 2C35 | 0.8 | 2.3 Ly e i 5
IS Gas i 6 9 il (58 i = —
g TNMG160404-TM ZC25 0.4 | 2.3 ~
: Q L TNNGT60408-TH 2625 | 08 | 2.3 [ e e 04| 7
e W1 TNMG160412-TM 2C25 | 1.2 | 2.3 : ;
Cnlhtha pdhda  hda 3V 58 2 S
4 e
TNMG160404-TM 2C35 | 0.4 | 2.3 TNMG160404-TS ZN6O | 0.4 .9
TNMG160408-TM 2C35 | 0.8 | 2.3 W it TNMG160408-TS ZN60 | 0.8 9
S —
“pl alae Al pola a & 47‘5« .
TNMG160402-HA ZKO1 0.2 | 1.9
TNMG160404-HA ZKO1 0.4 | 1.9
TNMG160408—HA ZKO1 0.8 | 1.9
TNMA160404 ZK50 0.4 | 2.3
TNMA160408 ZK50 0.8 | 2.3
TNMG160408 K30 | 08 | 23 y . A | meeteosoap w0 | 02 | s
et o slaatiron (- L) TNGG160404L-P ZN90 0.4 -6
A ﬂé TNGG160402R-P ZN90 | 0.2 6
TNMG160404-HA ZM30 | 0.4 | 2.3 RP |2 TNGG160404R—P ZNOO | 0 4 V)
TNMG160408-HA ZM30 | 0.8 | 2.3 TSNS
TNMG160404-MA ZM30 | 0.4 | 2.3 @ AlleR
HA WA TNMG160408-MA ZM30 | 0.8 | 2.3
JoS g el i
# 1 TNMG160404-MQ ZM30 | 0.4 | 2.3
2 _ TNMG160408-MQ ZM30 | 0.8 | 2.3
— y N e TNGG160402L-S ZN9O | 0.2 6
S8 oy 33 il (i 3 @ - TNGG160404L-S ZN90 | 0.4 6
H TNGG160402R-S ZN9O | 0.2 6
RS Lo TNGG160404R-S ZN9O | 0.4 6
TNMG160404-MS ZM30 | 0.4 | 2.3 15[ e 5255 2
TNMG160408-MS ZM30 | 0.8 | 2.3 G4 A

J5S s o dates) daladalb 2

(§3 43 el iy und ) ol (B3 3 3 Jiad 5,

Guand 2l 3 gl G el 3 S S 4y,

Gopds Sl Lkl (5 ) 4375 4a 58 suli 4S: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

6 s2ida ¢l a3 0

Turning Inserts

435 Jsaana 2 2,503 R uUsSD g5 hl Jsaana d 2233 R uUsSD

VBMT110302 CBN1 0.2 | 6.9 )
VBMT110304 CBN1 0.4 | 6.9 -
VBMT160402 CBN1 0.2 | 6.9 = VNMG160404 CBN1 0.4 | 6.9
8 VBMT160404 CBN1 0.4 | 6.9 VNMG160408 CBN1 0.8 | 6.9
. VBMT160408 CBN1 0.8 | 6.9 Eots gl (i
VCGT110302 CBN1 0.2 | 6.9 il S 1gm
VCGT110304 CBN1 0.4 | 6.9
VCGT110308 CBN1 0.8 | 6.9
VCGT160404 CBN1 0.4 | 6.9 VNMG160404 PCD1 0.4 | 69
13 i s] (gimad VCGT160408 CBN1 0.8 | 6.9 : VNMG160408 PCD1 0.8 | 69
Bisle U paia ol ga s VCGT160412 CBN1 1.2 | 6.9 pai el gl e
R 5 Jogedan pfiafale
VBGT110301 PCD1 0.1 | 6.9
xggmgggﬁ Egg} 8‘21 2-3 VNMG160404-TM ZC25 | 0.4 | 2.7
Vi i 0s | o9 VNMG160408-TM 2C25 | 0.8 | 2.7
VBGT160402 PCD1 0.2 | 6.9
VBGT160404 PCD1 0.4 | 6.9
VBGT160408 PCD1 0.8 | 6.9
. VCGT110301 PCD1 0.1 | 6.9
VCGT110304 PCD1 0.4 6.9 VNMG160408-TM ZC35 0.8 2.7
VCGT110308 PCD1 0.8 | 6.9 s Ak
VCGT160401 PCD1 0.1 | 6.9 e R
VCGT160402 PCD1 0.2 | 69 e
VCGT160404 PCD1 0.4 | 6.9
VCGT160408 PCD1 0.8 | 6.9
wsipall 5l sune VCGT160412 PCD1 1.2 | 6.9 VNMG160404-AL ZKO1 0.4 | 2.3
Jgaia ol ibe VNMG160408-AL ZKO1 0.8 | 2.3
VBGT110302-AL ZKO1 0.2 | 1.1
VBGT110304-AL ZKO1 0.4 | 1.1
VBGT160402-AL ZKO1 0.2 | 2.0
VBGT160404-AL ZKO1 0.4 | 2.0
VBGT160408—-AL ZKO01 0.8 2.0 VNMG160404 ZM30 0.4 2.7
VNMG160408 ZM30 0.8 | 2.7
VCGT110302-AL ZKO1 0.2 | 1.1
VCGT110304-AL ZKO1 0.4 | 1.1 405
VCGT160402-AL ZKO1 0.2 | 2.0 J5S g datal daiiad 3
VCGT160404-AL ZKO1 0.4 | 2.0
VCGT160408-AL ZKO1 0.8 | 2.0
VNMG160404-HS ZM30 | 0.4 | 2.7
VNMG160408-HS ZM30 | 0.8 | 2.7
VBMT160404-MV ZM30 | 0.4 | 3.7 J il et
VBMT160408-MV ZM30 | 0.8 | 3.7 LR Lk e
VNMG160404-MT ZN60 | 0.4 | 2.3
VNMG160408-MT ZN60 | 0.8 | 2.3
VBMT110304-HQ ZN60 | 0.4 | 2.7 e R ek
VBMT160404-HQ ZN60 | 0.4 | 3.4 2
PRI FERENE
LE AL Ay
VBMT160404-MT ZN60 | 0.4 | 3.6
lﬁ Al [ ha L‘Hées a
GAA[] A
T, VBGT110302L ZN90 0.2 | 47
i = | \BGT110304L ZN90 0.4 | 47
BRPES &.9-‘_9:" 4
_1..\ daly ._-L 3
//* -
et _ VBGT110302R-Y ZN90 | 0.2 | 4.7
: VBGT110304R-Y ZN9O | 0.4 | 4.7
B PES &.9-‘_9:" 4
(F A A )

@24l Jalis 43 3 b gl ol Qg8 0 [B)) 43 )51,
Guagd ol 2 500 G el 0 S 5S4y

Gl s SalliTh 5 Wikl (15 ) 4375y 4058 5uli 48 @VA@@mzgtool.cn http:// www.mzg.tw



http://www.mzg.tw

6 sda gl3 a3 2
Turning Inserts

g gl Jsanna d

g5 Jsaana 2

Py
@ OB oa oo dger &7 /1) WNMGOBO404-MA ZM30 | 0.4 | 2.6
o 0a08 o 28147 ﬁ WNNGOBO408-MA ZM30 | 0.8 | 2.6
SRS sl ey .
Sligle Jseds g0l se 2 JsS sy Jifl daiaialab 2
B0 o Dy | &3 WNNGO80404-MQ ZM30 | 0.4 | 2.6
B0 oe pon 0a 8y WNNGO80408-MQ ZM30 | 0.8 | 2.6
pr el 5l poae
Jse3a (i iSola S s el Jaligfa o
T -
@ 08 oa S22 | 8 | 28 WNMGOBO404-MS ZM30 | 0.4 | 2.6
—— WNMGO80412-CQ 2C25 | 1.2 | 2.6 WNNGOBO40BHS ZM30 | 0.8 | 2.6
Crlinle s30e o3[ 0a 2V 5 2 S Gan sy Jited Jidiime o
o
2’7/"‘ NN P
) WNMGO80404-HQ ZC25 | 0.4 | 2.6 . WNNGOB0404-HS ZN6O | 0.4 | 2.3
“\ - ﬁ WNMGOB0408-HQ 2025 | 0.8 | 2.6 s WNMGO80408-HS ZN6O | 0.8 | 2.3
w ‘ Laad g) i S 3
Ol Bl (Al le (Gl Be 2Y 680 .
7 N ()
/A - WNMGO80404L-S ZC25 | 0.4 | 2.6
H fo=22 e 0.8 | 2.6 L= X WNMGOB0404-Ha ZN6O | 0.4 | 2.3
v --.-» WNMGOBO404R-S 2625 | 0.4 | 2.6 e WNMGO80408-HQ zN60 | 0.8 | 2.3
WNMGOBO408R-S 2025 | 0.8 | 2.6 S .
JsS o s })5~~ 5029 Y C eaay
WNMGO80404L-S 2035 | 0.4 | 2.6 / \ WNMGOBO404L-X ZN6O | 0.4 | 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGOBO404R-S 7035 | 0.4 | 2.6 WNMGOBO404R-X ZN6O | 0.4 | 2.3
WNMGOBO408R-S 2035 | 0.8 | 2.6 SRS 0 LoslsSc . | WNMGOBO4OBR-X ZN6O | 0.8 | 2.3
Jdss JMJJJ s JJ L .3&& 1 s34l A p
= WNHGOBO404-Th 2625 | 0.4 | 2.6 WNNGOB0404—NT 60 | 0.4 | 2.3
o WNMGO8O408-TM 2025 | 0.8 | 2.6 iNNaosDoa T Zeo | 0.4 ) 2.3
WNMGO8O412-TM ZC25 | 1.2 | 2.6 : :
TMZC25  TMZC35
_1 _1_1\.4 ,JJ La 64 ba -4‘}1 55 Q
WNMGOB0408-CM ZC25 | 0.8 | 2.6 WNNGOB0404-TS ZN6O | 0.4 | 2.3
WNMGO80412-CM ZC25 | 1.2 | 2.6 WNMGO80408-TS ZN6O | 0.8 | 2.3
OBl (S G3lFa 2Y 5 2 Barjar] of (S0 he CuiaS 2
@Al gA R
N WNMGOBO402-HA ZKO1 | 0.2 | 2.3
. WNMGO80404-HA ZKO1 | 0.4 | 2.3
=] WNMGO80408-HA ZKOT | 0.8 | 2.3
Pt ng.nj\ gl guas 2
Jsaid [ BSgle
WNMGOBO404-HA ZM30 | 0.4 | 2.6
. WNMGO80408-HA ZM30 | 0.8 | 2.6
JsS e s Jatl Jaiaiaa o
WNMAO80404 ZK50 0.4 | 2.6
WNMAO80408 ZK50 0.8 | 2.6
Bla il (g sl Gl
WNMGO80404 ZK50 0.4 | 2.6
WNMGO80408 ZK50 0.8 | 2.6
i) RIS 3

3 43 Jdeli 43 oed gl o
g_m_\ﬂ JJ_\j a 5)“4

4\5\4).‘)\ Q

Al c\iJ)é J tJ_'a 43 ) 5a.
S 0S4

G oals SIUh s Wlal ¢ )] 4335y 4n g8 suld 45: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

4.1:1.3.&1} LSJ-.’JDEJ-‘-.@}-“ 3

Thread Turning Tool

45y s[B) Jgumna 2 238 439y o[ J gemna 3 23l
o 16ER 050180 ZP10 0.50 | 2.0
Machining 16ER 075150 ZP10 0.75 2.0
16ER 1001S0 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 1251S0 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 1501S0 ZP10 1.50 2.0 s s P 5 Threads s
16ER 1751S0 ZP10 1.75 2.0 DIN103 Juess!
16ER 2001S0 ZP10 2.00 2.0 ol lin o
16ER 250180 ZP10 2.50 2.0
16ER 3001S0 ZP10 3.00 2.0
16ER 350150 ZP10 3.50 2.0 161R 2TR ZP10 20 | 2.0
16ER A60 ZP10 0.5-1.5 | 2.0 161R 3TR ZP10 30 | 20
16ER AG60 PCD1 0.5-3.0 | 6.9 M 3sTloms T+ 3 Threads i
16ER AG60 ZP10 0.53.0 | 2.0 108 dup %
16ER G60 ZP10 1.5-3.0 2.0 O g 9y JAly s
22ER 3501S0 ZP10 3.50 531 ZP10
22ER 400180 ZP10 4.00 5.1 General
— 22ER 500180 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch1 1100th 2.0
600 2 ols g oie 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 Tinch14100th 2.0
JsS Gy g2 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19To0th 2.0
16ER 24W ZP10 Tinch24100th 2.0
SER1616H16 - 7.1 peD1 16ER 8W ZP10 11nch8Tooth | 2.0
SER2020K16 - 7.1 pisall 5l ane 16ER A55 ZP10 0.5-1.5| 2.0
SER2525M16 - 9.3 Jseid o iaﬁa\f'* 16ER AG55 PCD1 0.5-3.0| 6.9
SER2020K22 A 9.6 y 16ER AG55 ZP10 0.5-3.0| 2.0
SER2525M22 - 13.1 16ER G55 ZP10 1.5-3.0| 2.0
B-SEL SER SER3232P22 - 20.3 22ER N55 ZP10 3.5-5.0| 5.1
B-SEL1212H16 - 9.6 55° Inch Externa
B-SEL1616H16 - 9.6 JsS s s
o B-SEL2020K16 - 9.6 ZP10
g3 @20l sl o | B-SEL2525M16 - 13.1 ﬁZZﬁ{ﬁi'ng 06IR A55 ZP10 0.5-1.25 4.7
ZP10 06IR A60 ZP10 0.5-1.25 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 1501S0 ZP10 1.50 4.1 111R 19W ZP10 Tinch19Tooth 2. 0
Machining 08IR A60 ZP10 0.5-1.5 4.1 161R 11W ZP10 Tinch11700th 2.0
111R 1501S0 ZP10 1.5 2.0 161R 12W ZCO1 Tinch12700th 2.0
111R 2001S0 ZP10 2.0 2.0 161R 14W ZP10 Tinch14700th 2.0
11I1R A60 ZP10 0.5-1.5 2.0 PCD1 161R 19W ZP10 Tinch19T00th 2.0
161R 0501S0 ZP10 0.50 2.0 ?fﬁ%‘ ) e 161R A55 ZP10 0.5-1.5| 2.0
161R 0751S0 ZP10 0.75 2.0 doeit Calaiile ] 161R AG55 PCD1 0.5-3.0| 6.9
161R 1001S0 ZP10 1.00 2.0 161R AG55 ZP10 0.5-3.0| 2.0
b1 161R 1251S0 ZP10 1.25 2.0 161R G55 ZP10 1.5-3.0| 2.0
i) 5l e 16IR 1501S0 ZP10 1.50 2.0 o 22IR N55 zP10 3.55.0| 5.1
3‘ A0 161R 175180 ZP10 1.75 2.0 Gy
S Gl 16IR 200150 ZP10 2.00 2.0
161R 250180 ZP10 2.50 2.0
161R 3001S0 ZP10 3.00 2.0 16ER 12UN ZP10 Tinch12700th 2.0
16I1R 350180 ZP10 3 50 2.0 16ER 14UN ZP10 Tinch14100th 2.0
161R A60 ZP10 0.5-1.5 2.0 16ER 16UN ZP10 Tinch16Tooth 2.0
161R AG60 PCD1 0' 5_3' 0 6- 9 16ER 18UN ZP10 Tinch18T00th 2.0
161R AG60 ZP10 0: 5,3: 0 2: 0 fodm A (5 i ghE 16ER 20UN ZP10 11nch20T00th 2.0
161R G60 ZP10 1.5-3.0 2.0
221R 350180 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 161R 12UN ZP10 Tinch1 2700ty 2.0
221R 5001S0 ZP10 5.00 5.1 161R 14UN ZP10 Tinch14100th 2.0
60 S s 13l e yie SLSI 22|1R 600180 ZP10 6.00 5.1 161R 16UN ZP10 11nch16Tooth| 2. 0
JsS Gamega ey d 221R N60 ZP10 3.5-5.0 51 161R 18UN ZP10 1inch18T00th 2.0
: AR 161R 20UN ZP10 T1nch20To0t] 2.0
SNROOO5K06-A12 - 7.1 OO g aors s
SNR0007J08 - 5.1
SNROOOBKO8 - 5 1 16ER 11BSPT ZP10 [l 1nenT1o0ty 2.0
16ER 14BSPT ZP10 Tinch14100th 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 P 54 16ER 28BSPT ZP10 |1 1ncn28100ty 2.0
e2lgld A sis e g ili: s BSPT
SNROO13N16 - 6.1 debumen dumele
SNROO14N16 - 6.7 -
SNRO016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinch11700th 2.0
SNR0025S16 L\ 1.7 . L 16IR 14BSPT ZP10 Tinch14700th 2.0
SNR0032T16 - 20.3 g gl 2 BEPT
R o o500
SNROO20R22 - 10.7 A g sy
O il SNR0025S22 - 14.3
P SNR0032T22 - 22.9
JsS Gems g o252 16ER 11.5NPT ZP10 111, Braen| 2.0
16ER 14NPT ZP10 Tinech14100th| 2.0
TKFT. . TTP. . 16ER 18NPT ZP10 1inch18Tooth| 2. 0
lv TKFT6001 ZP15 0.5-3.0 | 5.9 NPT g 250 3t
Ui 8 2O sl 2
W iy 2551 1+ 8 TTP6001 ZP15 0.5-3.0 | 5.9 /g.
et slim S g0 0
TP 16I1R 11.5NPT ZP10 |1l 1. 5ot 2.0
o 161R 14NPT ZP10 Tinch14100th| 2.0
TTPR12 - 9.3
s TTPR16 - 1.7 > NPT ;,f),u s
JsS s m 252

> 43 Jalid 4:\),\: oud ) G,gﬂ..q ci\,!‘)é 3 tJ'.' 43‘)57}_

\L:.qrg'é 327.\.‘ d _gjj\; ‘573\5\73).4\ A ‘55 )}S 43,
oy SIUTL o Wl (pg )l 48[ 150 4w S 5uld 4S: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

iy y o[ B Jsrana 2

Jsdos 53 g0 eia sS 0/ 42300/ 25 e

Cut-Off/Grooving/Back Turning Of Small Parts

iy y o[ hl Jsmana d

T16E100 ZP15 3.0 TKF12R100-S ZP15 5.9
T16E150 ZP15 3.0 TKF12R150-S ZP15 5.9
T16E160 ZP15 3.0 TKF12R200-S ZP15 5.9
T16E200 ZP15 3.0 ( ‘ TKF16R100-S ZP15 6.6
| T16E250 ZP15 3.0 TKF16R150-S ZP15 6.6
T16E300 ZP15 3.0 s = | TKF16R200-S ZP15 6.6
i ut-Off Processing
SIVERErY 55 e 053 Taner TKF12R100-S16R ZP15 5.9
Cypo R el TKF12R150-S16R ZP15 5.9
: s " B TKF12R200-S16R ZP15 5.9
{ ) TKF16R100-S16R ZP15 6.6
N W% TKF16R150-S16R ZP15 6.6
SER1616H16 7.1 - TKF16R200-S16R ZP15 6.6
SER2020K16 7.1 IS g o SIS 3 oS B2 S
SER2525M16 9.3
T11N100 ZP15 1.0 | 3.0 ‘ USRS
' T11N150 ZP15 1.5 | 3.0
/ T11N200 ZP15 2.0 | 3.0 i sy a0
‘ T16N100 ZP15 1.0 | 3.0
: T16N150 ZP15 1.5 | 3.0
T16N160 ZP15 1.6 | 3.0
T16N180 ZP15 1.8 | 3.0
T16N200 ZP15 2.0 | 3.0
T16N230 zP15 2.3 | 3.0 KTKFSL1010JX12
sy 053 T16N250 ZP15 2.5 | 3.0 KTKFSL1212JX12
s T s T16N300 ZP15 3.0 | 3.0 KTKFSL1212JX16
SNROO10K11 5.1
SNROO12M11 5.4 KTKFSL. .
SNROO13N16 6.1
SNROO14N16 6.7
SNROO16Q16 6.7 KTKFR0810JX12 11.9
SNROO20R16 7.1 KTKFR1010JX12 9.4
SNR0025S16 1.7 KTKFR1212JX12 9.4
KTKFR1616JX12 9.4
CTP10FR ZP15 1.0 | 5.9
Tapef CTP15FR ZP15 1.5 | 5.9 KTKFR1010JX16 9.4
“ CTP20FR ZP15 2.0 | 5.9 KTKFR1212JX16 9.4
CTPA10FR ZP15 1.0 | 6.6 KTKFR1616K16 9.4
CTPA15FR ZP15 1.5 | 6.6 KTKFR. . KTKFR2020JX16 10.7
CTPA20FR ZP15 2.0 | 6.6
JsS G J—bmumgﬂ-,ﬁ)iw'—?r
CTP10FRN ZP15 1.0 | 5.9
= CTP15FRN ZP15 1.5 | 5.9
“/ | B g,’;i%?g,ﬁ%‘:’s f'g 2'2 FVC1604R150 ZP15 1.5 4.3
St 0= | GTPA20FRN ZP15 20 | 66 FVV1604R300 ZP15 3.0 4.3
SCut-Off Processing . .
CTPSL10 10.7
CTPSL12 e Slle gabs)slge sl 2
CTPASL10 10.7
CTPASL12 11.9
CTPSL
OTPASL. . CTPASL16 14.3
CTPRO8 11.9
CTPR10 9.4 SVQCR2020K16-NJ
CTPR12 9.4
CTPR16 9.4
CTPR20 10.7
CTPAR10 9.4
CTPAR12 9.4
CTPAR16 9.4
CTPR/CTPAR. . CTPAR20 10.7
CTPAR25 14.3
VC1604R250 ZP15 2.5 4.3
VC1604R300 ZP15 3.0 4.3
TTB6001 ZP15 5.9 _
ke a5 s Fe sl 2
Jsa sa sz S
TBPR10 9.4
TBPR12 9.4 SGIVFR16016
SGIVFR20Q16
TBPAR10 9.4 SGIVFR25R16
TBPAR12 9.4
TBPAR16 9.4 SGIVER.
$2 4l Jal ‘\3).} uad }\ _dLA cs_l_a)ﬁ C)_I 44)}_1
;_\_o_\ﬁ ‘J_ﬂ J }JJ\; GJLS\JJA\ J S JJS 4_1

(ol s Salli o Lkl (5 )1 4337 5 40 S suili 4S: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

Al g ol ol [T 355 [0S 9 93] [F yge [Baily 2
External Cylindrical Grooving Turning Tool

2515

A
5

c
1%
O

4y 5[ Jgaana d 439y 5[ 8l Jsaana d

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15

bl % Lt

O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!
NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

-
WNRNRNNRNNNNNNN—E s

WNNNNNNPONNN = =S =

m TGF32R220 ZP15 | TGF32L220 ZP15

“ . ) /" wa | TGF32L230 ZP15

e i " W Ter320250 zp15

N ¥ TGF32R250 ZP15 x )| TEE2250 2t
TGF32R260 ZP15 ..

TGF32L270 ZP15
Jinventory <Ss» @3 0.3-3.2mm TGF32L280 ZP15
2035 SsS Slasil e ,52 0.8-4 mm | TGF32L290 ZP15

B S S s TGF32L300 ZP15

@ o g AL a4y

oy a0 05,52 TGF32R270 ZP15
sinventory <se <3 0.3-3.2mm| TGF32R280 ZP15
S i;ﬂ;figf-“ MM TGF32R290 ZP15

T TGF32R300 ZP15

G2 G Al ) 4y

MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16 - 9.3 S16N-KTGFR16 - 9.3
S20Q-KTGFL16 - 1.0 S20Q0-KTGFR16 - 1.0
S25R-KTGFL16 - 13.1 S25R-KTGFR16 - 13.1

S. . -KTGFR.

("_1.4733 .lﬁ:gj a }_).U,} gaLS\::_)A‘ a GS _)}S 4._3

g4l Jali 43 oud ) GT!M.A ¢y 82 P 43 )51,

Gl s Sy Wkl (5 )1 43315 40 58 5uls 4S: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

4.j73.;.u‘5 jjjjd._l [] '.’:‘J}JJD‘J de ‘SJS\J / u.j.oj.m.ej\ ‘SAJ\.A Q

External Cylindrical Grooving Turning Tool

4558 Jsrnna 2

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1

sinventory <Ss» &3 1.0-4.8mm

055 SsS Qlaiil o y5e 2.0-5.0 mm

o S S5 gaee
oS3 g Alls el 4y

CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0

SGBSL. .

SGBSL2020K43 - 10
SGBSL2525M43 - 14
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

- b
2inventory Ss» &3 1.0-4.8mm
0035 35S wladile ;52 2.0-5.0 mm
R
By s Al 4y

CGBL.
CGBL1616H43 = 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16.4
CGBSR2020K43 = 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR2020K43 - 0.7
SGBSR2525M43 - 14.3

gy 5B Jgemna 2 24l [Ks» USD

Grooving kach

ining

EIPLpp g

GER100-A ZP15
GER150-A ZP15

SI1GER0606A-EH
S|1GERO808A-EH
Hod Ay

S|GERO80OBA—EHT

[%

RGN
oo

bl
~N~

19.0
1.9

1.9

Grooving Mach

ining

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B-EH
SIGER1210B-EH
Msd Ay a

SIGER1010B—EHT
SIGER1210B~EHT

DN = =
ocuvwouwo

AAASS
NN~

Grooving Machi

SI1GER. .

ning

Asd g

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

SIGER1412C-EH
SIGER1616C—EH

gljﬁ‘;)‘uﬁA

SI1GER1412C~EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

Grooving Mach

SIGER. .

ining

o8 (A 2

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

AN~

oo Uouo

cooaaon
I A TN

o>
~w

L
—

Grooving Mach

ining

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J07
SNGR10KO07
Mgd A 2
SNGR10K07

N — —

[@N¢, Ne)

JNIN
[o e e

0 oo
oo

—

Grooving Mach

SNGR. .

mninag

b g 2

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08
K1 PP Rt
SNGR10K08

W

oo

~O O

he
oo

Grooving Machining

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
[eNeoloNe)

AA
w=22
-0 ©

$» 45 Juld 43 ) oud ) Asfﬂ“" c»i\,!Jé ) tj.] 43 ) g2,

\La.qry'é J):.d R })M.}. ‘573\5\:1),4\ k) ‘55 )755 42,
ol s SQU[h )y Bl (s )l 43815 4 S suli 4S: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

sz.i_s.uj jj}d.'i.) REE] L,JS / [] ﬁﬂj})DJ

Grooving/Cut-Off Turning Tool

455 B Jgaana 2 4y 9[B) Jgaana

MGMN150 CBN1 1.5 | 6.9
MGNMN200 CBN1 20 | 6.9 MRMN200-G ZP30 R1.0 | 1.6
MGNMN250 CBN1 2.5 | 6.9 MRMN200-M ZP30 R1.O | 1.6
MGNMN300 CBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 -G -M MRMN400-M ZP30 R2.0 | 2.0
MGMN500 CBN1 50 | 6.9 oty 45 5l 5 By 4y
s ol olss o
MGMN150 PCD1 1.5 | 6.9 G g gt
MGMN200 PCD1 2.0 | 6.9 S i Jpit il s
MGMN250 PCD1 2.5 | 6.9
MGMN300 PCD1 3.0 | 6.9 MRMN40O CBN1 R2.0 | 6.9
MGMN400 PCD1 4.0 | 6.9
MGGN300 ZP15 3.0 | 1.6
MGEHR1010-1. 5 1.5 | 9.0
MGGN400 ZP15 4.0 | 1.7 MGEHR1010—2 20 |90
B . A ‘ MGEHR1212-1.5 1.5 | 9.0
S L MGEHR1212-2 2.0 | 9.0
) - MGEHR1212-3 3.0 | 9.0
( || MGGN200-a ZP15 2.0 | 1.7 MGEHR1616-1.5 1.5 | 6.7
’\I | MGGN300-Q ZP15 3.0 | 1.7 MGEHR1616-2 2.0 | 6.7
8° Taper MGEHR1616-2. 5 2.5 6.7
Cut-Off Processing MGEHR1616-3 3.0 | 6.7
] S MGEHR1616-4 4.0 | 6.7
( || MGGN200 ZKO1 2.0 | 1.7 MGEHR2020-1. 5 1.5 | 6.7
. N Y MGGN300 ZKO1 3.0 | 1.9 MGEHR2020-2 2.0 | 6.7
B ooper o Alumini e MGGN400 ZKO1 4.0 | 2.3 MGEHR2020-2. 5 2.5 | 6.7
R AR el MGEHR2020-3 3.0 | 6.7
‘ MGEHR2020-4 4.0 | 6.7
MGGN150 ZP30 1.5 1.7 MGEHR2020-5 50 6.7
o [ 2.0 | 1.7 MGEHR2020-6 6.0 | 8.3
“‘ “‘ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\\ /s MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
MGGN400 ZP30 4.0 2.0 MGEHR2525-2. 5 2.5 9.0
08 ey ol s/ s, 0 | MGGNS00 ZP30 5.0 2.7 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e O
— MGGN200R-8 ZP30 2.0 | 1.7 - -
" MGEHR2525-6 6.0 | 10.7
, ( || MGGN250R-8 ZP30 25 | 1.9 e 50 | 164
: J /| MGGN30OR-8 ZP30 3.0 | 2.0 e 350 | 104
8° Taper i~ | MGGNAOOR-8 ZP30 4.0 | 2.4 - :
MGGN500R-8 ZP30 50 | 3.1 T Gl e /(] 5 e 4.0 | 1674
Cut-Off Processing : : <l Gl oS/ a5, | MGEHR3232-5 5.0 16.4
MGEHR3232-6 6.0 | 17.9
— oo 2ha0 ol A5 oy 2 MGEHR1010-1. 5T12 1.5 | 10.7
S MeeN250L-8 ZP30 55 | 19 MGEHR1010-2T12 2.0 | 10.7
{ | - N
\ )| MEGN300L_8 ZP30 30 | 20 MGEHR1212-1. 5T12 1.5 | 9.6
8° Taper MM | MGGNAOOL-8 ZP30 20 | 24 MGEHR1212-2T12 2.0 | 9.6
— ' ' MGEHR1616-1. 5T13 1.5 | 9.0
MGEHR1616-2T16 2.0 | 9.0
MGEHR1616-2. 5T18 2.5 | 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 1.7 MGEHR1616-3T20 3.0 | 9.0
. MGMN200-M ZKO1 20 | 1.7 MGEHR1616-4T720 40 190
e L= M MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
N . MGMN400-M ZKO1 4.0 | 2.0 MGEHR2020-2T16 20 | 9.6
1 MBoppré', f\lgm\j{im . MGEHR2020-3720 3.0 | 9.6
3 = MGEHR2020-4T20 4.0 9.6
- Gl il S /iy, ol | MGEHR2525-3T20 3.0 11.0
MGMN200-G ZN60 2.0 1.4 i o MGEHR2525-4T20 4.0 11.0
MGMN300-M ZN60 3.0 1.7
MGMN400-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 | 9.0
A2 MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 | 9.0
Bt MGEHL1212-1.5 1.5 | 9.0
gy M A 2 MGEHL1212-2 2.0 | 9.0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1.5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 MGEHL1616-2. 5 2.5 6.7
MGEHL1616-3 3.0 | 6.7
Riaitoss steat ! MGMN300-H ZP30 30 | 1.6 MGEHL 1616-4 4.0 | 6.7
T PRI R Uity JE ATPPRLIN MGEHL2020-1. 5 1.5 6.7
MGEHL2020-2 2.0 | 6.7
MGMN200-G ZP20 2.0 | 1.6 MGEHL2020-2. 5 2.5 | 67
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
MGNMN250-M ZP20 2.5 1.6 MGEHL2020-4 4.0 6.7
MGMN300-M ZP20 3.0 | 1.6 MGEHL2020-5 50 | 6.7
Steel Grooving MGMN400-M ZP20 4.0 2.0 MGEHL2525-2 2.0 9.0
JCW-GT E rocessing MGEHL2525-2. 5 2.5 | 9.0
MGMN150-G ZP30 1.5 | 1.6 e 3.0 ) 9.0
MGMN200-M ZP30 2.0 | 1.6 N 4.0 19.0
MGNMN200-G ZP30 20 | 1.6 MGEHL 252575 5.0 o2
MGMN250-M ZP30 2.5 | 1.6 ALz zo=0 6.0 10.7
MGMN250-G ZP30 2.5 | 1.6 s Lemene 3.0 | 16.4
MGMN300-M ZP30 3.0 | 1.6 e 4.0 ) 16.4
-G - . ' MGEHL3232-5 50 | 16.4
SysS Y B s MGMN400-M ZP30 4.0 | 2.0 o ' ' MOEH 3990 o0
JCUtOff Processing MGMN500-M ZP30 50 | 2.7 S AR TR : 17.9
@ 4 Jald 43y (wad gsﬁﬂ‘“ ¢y tjj 43 ) ea,
Dy B S B | K O R L S
FEAB T e e Je s http://www.mzg.tw

Gl s S e Wkl 5 )1 4330155 4058 5uli 4S: eva@mzgtool.cn


http://www.mzg.tw

4.3,3.»&}}5}5@[53 D..I:\J}}JDJJJA GAA‘J/CALQ\.JJ
End Face/lnner Hole Grooving Turning Tool

g[8 Jsana d 2l [Ks> USD g5 hl Jsana 53 [ UsSD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 19.0 RE[ MGIVR3732-6 6.0 26.1
MGHH420R-160/400 4.0 |19.0 Tassold s il
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 S s
MGHH425R-100/140 4.0 | 28.6 ML
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
A j,]LA )jS)_u k)
IS Aslmge sl e MG1VR2520-3T8 3.0 15. 4
sl sy 2 MG1VR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
L MGHH320R18-160/400 3.0 21.9 -
\ MGHH325R18-160/400 | 3.0 | 239 it
MGHH420R15-30/50 4.0 21.9 Lssoldse sl
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGIVL2016-2 20 193
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
SalBale LIS a0 MGIVL2520-1.5 1.5 11.0
JsS sial 40 fea sy MGIVL2520-2 2.0 | 11.0
NPV MGIVL2520-2. 5 2.5 | 11.0
. MGIVL2520-3 3.0 11.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 .t MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 LT MGIVL3732-4 4.0 | 26.1
MFH425R08-25/140 4.0 24. 6 Sssolldss Al MGIVL3732-5 5.0 26.1
MFH425R10-25/140 4.0 24. 6
A hale JjS).u J
JsS 8504y e sy 2
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
2550 ladnlas
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
35500 sl

S 4l Jwlid 43)7:3 oed gsrfn‘“ s;ia:\)é ) tJj 43)5:3_
Lm:\é _\Jﬁl A )JJ\Q g,g\.&,g),a\ 2 &55 )55 42,
ol g Sl b s Wadal opg )l 433] 150 4w 58 5uld 45 eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Q CNC Q\jﬁ.@.;ﬁ

CNC Turning Tool

gy [ B Jsmna g gl Jsanna i gy sl Jsanna

5.4
5.3
5.4
6.0
8.3
3232P 14.7 KTGFRI/L..
404OR 21.9 ZQ.. Sdsadiuy dSas S bl Gl Gf o Sl s Al s 518 SR 2 (Tdagssyla
1616H 6.7 SPB226, 11.9 KTGFRIL.. 1010 11.9
2020K 6.7 SP.. SPB326| 11.9 el s SIS SIS 2 s 50002 1212 11.9
2525M 8.6 \ SPB426, 11.9 1616 11.9
3232P | 14.7 ‘ ‘ SPB232 14.3 ToF 2020 | 13.1
4040R 29.0 SPB332 14.3 — 2525 15.4
SPB432 14.3 _
SPB.. (Sl Al 518 4318 Gl Gl oS s FIPL PR
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 o= 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRIL..
WSS 4dsa LS iyl g Sl ks SIS @IS
1616H 9.3 MGEHR/L.. [t S 2 ) 1010 7.1 1616 6.7
2020K 9.3 P 300 00 425550002 1212 7.1 2020 6.7
2525M | 11.0 1616 6.4 N 2525 8.9
3232P 14.6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBRI/L..
Dis S g3 s[5 Hiaymlua Sy da s S8 QIS S (Tass0T0
S Suls S5 30 Ehsm Aals S06K 5.4 MGEHR/L.. [is S 5 <) 1010 9.6 1616 9.0
SO07K 4.6 [4des slsdas [ 4053555000 1212 9.6 2020 9.0
2 S08K 4.6 1616 8.9 ) 2525 11.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 SGBSRI/L..
S16Q 5.7 St ome 3 Sl s 158 OIS S [T 355,000
$18Q 6.4 1616 8.6
e IR
8258 9.7 2525 11.0 :
2525 16.4
S32T 14.6 3232 21 9
S40U | 25.4 MG ;
MGEVRI/L.. CGBRI/L..
Sl ales 1S SIS a0 Sl e 1S SIS 2 a0
S LSy oS a5l e Gl 507 5.4 5 e 2 16 9.3 1616 | 11.9
S08 5.4 > .0 2020 14.3
S10 5.4 1 2525 17.9
S12 6.9 7
S16 8.6 .3
S20 9.7 CGBSRIL..
NPt g;l)““‘ﬁ B ﬂhﬂfl:’i;ijlype ‘:an:io)le 3 20 15.4 Sl by 1S SIS S [Ty
H oSds oS 55 030 s 21 G813 S06 14.6 CGWSRI/L.. .S 2 <l 1616H 9.6 QE..R/L.. Oisus 2 <l 1616H 9.3
) S07 14. 6 Jadss sl (130555000 2020K 10.7 [ads s slslay (T dags5,002 2020K 11.0
S08 14.6 2525M 12.6
S10 16. 4 3232P 20.0
S12 18.1 WGE.. - .
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRIL. 5 S i <l 1616 | 15.3
S20 43. 6 2020 10.3 fadis s o) slay Dy gy analia 2020 16.9
S25 65.0 GY2M.. 2525 11.9 ‘ 2525 | 20.4
DGN.
. GYHR/L.. [t 25 <)
il S 510 4k s 515t j;i) K [
C L Sals oS53 a5l s) losm Sala s C04G 19.0 KGMR/L.. [ 2wl 1010 10.3 FGHH..R/L. . 1616 28.6
C05G 19.0 [adis s ssday [ aass5,000 1212 10. 3 [ 2020 28.6
C06J 19.0 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
C08K 22.6 % 2525 12.9 FMN.. s 04y
C10K 26.1 - 3232 20.0 U e yaian gl gl
C12M 33.3 Gro(‘)vm\gsMacjhfn?ﬂg S5 P I
C14N 52.4 TTER/L.. OS2 ) 1010 10. 3 1616 | 35.7
c16a | 69.0 [ 513 s, 08 s 1212 10. 3 2020 | 381
c18Q | 81.0 1616 9.3 2525 | 42.9
C20R 95.3 2020 11.0
€258 204.7 2525 12.9
20,8 558 dass C32T 452. 4 3232 20.0 B2 s
Grooving Machining
S$16Q 8.3 TTIR/L.. Type Inner Hole 16 14.3 MGHH. . . 1616 23.9
S20R 8.6 e 20 16.7 ' 2020 | 21.9
233? 12-2 25 19.0 2 2525 | 23.9
S40T/U | 28.9 EGMN.
‘. S50V 72.1 .
S. M. 5y (SS5 el gl Salaly 4“)’ AS‘J""“ 4 Gr;};vfn:;:jh{n‘fng

Il G\i\JJé 3 é).'\ 43 )5

&.,53 43 J.A\..u 4.:1‘):! waﬂ j\ s 2 2.
&L}.A:\é Jjﬁj a j)l\; ngLS\:\)ﬂ\ a GS )55 4..1 .
- ng__:alj Sl o tadal cg ) 45392 4w sS suld 4K eva@ngtool_cn http://www.mzg.tw


http://www.mzg.tw

2CNC L;Jﬂ-w} BEBIES

CNC Turning Tool Parts

4y ys[ 8l Jsaana Size USD g[8 Jsanad Size UsD
MC0903 0.4 M-Type Clamp HL1810 0.4
MC1204 0.6 HL1814 0.4
MC1604 1.1 HL1917 0.4
= MC1904 1.6 ] HL2114 0.4
ey Ay
\ HL22177% 1.0
C-ig S ol azd HL2414 0.4
- MD1103 | 0.4  M-LS <l sohm S ML520 0.3
. : MD1504 | 1.0 ML620 0.3
y MD1506 1 ML625 0.3
ML630 0.3
ML830 0.8
D-isof ol a2l
MS0903 0.6 W-Type Clamp WT16 0.4
5 MS1204 0.6 WWo8 0.4
P MS1504 1.1
g MS1904 1.6
S5l el
MT1603 0.3 W= 5l g WCO0525E 0.4
MT1604 1.1 WC0625E 0.4
<« WT2204 | 1 1
T-ts 8 el
MV1603 0.6 D-Type Clamp DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DWO8 1.0
MW0603 0.4 D-15 S Gl [ %w IS s DL525 0.7
- Mwo804 0.6 . DL625 0.7
W-is 8 ‘7‘;1‘9 e:‘-‘-“
—[smieR | 0.3 DDC12 0.5
T al | | STM16L 0.3 DDD15 0.5
- - STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
R L DDWO8 0.5
STM-15 8 <l pad D-15S Gl pasd screw
CTM510 0.2 L-ts S @l i (s Aala o L1.5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
» |CTM618-W 0.2
N |CTM0822 0.3 T-5 S <l s ool mes Jalas | TL1. 5 1.0
P CTMOB227:| 0.7 4 il Dt » (RS 10
. N CTM1022 0.3 TL2.5 1.0
CTM10225:5,| 0.7 TL3.0 1.0
_ TL4.0 1.0
KA TL5. 0 1.0
Center Pin Screw o
M2. 0X5 0.1 gk JaS Bdan 2 T6 0.2
M2. 2X5 0.1 17 0.2
M2. 5X5 0.1 - T8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
M3. 5X12 0.1 &y JSed JSi-pa s 2 T6 0.8
M4. 0X8 0.1 ) o 17 0.8
M4.0X10 | 0.1 18 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 T20 0.8
3 T-Type Plum gJ TT6 1.0
177 1.0
T8 1.0
1710 1.0
TT15 1.0
‘ 1120 1.0
508w )V 3s) asasshiase

@2 43 Jal 43 )2 oud ) Gﬂﬂ“ ui::)_sa ) t)_'\ 43 ) 92,
leza.ﬂ' _\J:yj R }Jj\g §£\5\5Jﬁ\ ) LSS JJS 4q,
ol g Sl h s Wadal (pg ) 433 150 4w S 5uld 4S: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

‘;5\3}5 4.&}\‘} }jjs 4.:1}\) 3 ng.u d“z.l 4..L.~.u‘j 4..1 L)""‘“LA Q

Machine-Clamped Right-Angle Milling Cutter

JsS i€ s g[8 slyaasl ) - 3 Calb le a
Locking Tooth Type Right-Angle End Milling Cutter

S5S Glims (5508 2 (SIS 4505 2 (g A 2
Discarded Right-Angle End Milling Cutter Toolholder

45y sl (Jorana 2

APMT1135-TG ZN60 0.8 1.4 BAP300R C24-25-150-3T 10.
BAP300R C24-25-200-3T 1.
APMT1604-TG ZN60 0.8 1.9 BAP300R C24-25-250-3T 14.

I ] BAP300R (24-25-300-3T 20.
BAP300R 25-25-150~3T 10.
BAP300R (25-25-200-3T 11.
BAP300R (25-25-250-3T 14.

BAP300R C25-25-300-3T 20.

A

g 4

APMT1135PDER-M2 ZP25 | 0.8 1.1

APKT113502 0.2 | 69 D) 5 . e
APKT113504 CBN1 0.4 | 69 XM ‘ L !
prery APKT113508 CBN1 0.8 6.9 e "
Jliae sS55 sid o) Al 2 dxDxL UsD
M BAP30OR G10-10-120-1T 3.3
APKT160402 CBN1 0.2 6.9 BAP30OR G10-11-120-1T 3.3
APKT160404 CBN1 0.4 6.9 il BAP30OR C12-12-130-1T 3.3
APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g]i—}i—}gg—g i-g
BAPS-11-1T-M5 23.9° BAP300R C14-14-150-2T 4.6
BAP3-13-1T-M6 239 BAP30OR C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9  BAP3-15-2T-M8 239 BAP30OR C15-15-200-2T 5.4
APKT113504 PCD1 0.4 6.9  BAP3-16-2T-M8 28.6 BAP30OR C15-16-150-2T 4.6
Uy APKT113508 PCD1 0.8 6.9 ~ BAP3-17-2T-M8 28.6 BAP300R C15-16-200-2T 5.4
Gopper and Aluminum S 510 BAPSOOR C15.6-16-150-2T | 4.6
) : BAP300R C15. 6-16-200-2T | 5.4
BAP3-25-3T-M12 333 BAP30OR C16-16-120-2T 4.6
APKT160402 PCD1 0.2 6.9 BAP3-25-4T-M12 357 BAP30OR C16-16-150-2T 4.6
APKT160404 PCD1 0.4 6.9  BAP3-26-2T-M12 333 BAP300R C16-16-200-2T 5.4
- APKT160408 PCD1 0.8 6.9  BAP3-26-3T-M12 333 BAP30OR C16-16-250-2T 9.6
Jseis BAP3-26-4T-M12 357 BAP30OR C16-17-120-2T 4.6
Copper and Aluminum BAP4-25-2T-M12 33.3 )
By 553 BAP3OOR C16-17-150-2T 4.6
. D30 o112 Ss |  BAP3OOR C16-17-200-2T 5.4
APKT1135PDER-AL ZKO1 | 0.8 14 BAPA-30-3T—M16 40 4  BAP3OOR C16-17-250-2T 9.6
DT o %9 | BAP3OOR C16-18-150-2T 5.4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 ' BAP300R G16-18-200-2T 6.1
U saia 3T BAP4-32-3T-M16 404 BAP30OR €19-20-150-2T 5.4
e BAP4-35-3T-M16 42.9
Copper and Alurminum BAP300R C19-20-200-2T 6.1
SBAP w5 om0 e BAP30OR G20-20-120-2T 5.4
: TR R e BAP300R C20-20-150-2T 5.4
6 APKT1604-AL ZKO1 0.2 19 End Milling Cutter BAP300R C20-20-200-2T 6.1
O - : : BAP300R C20-20-250-2T 9.6
—~ BAP300R C20-21-120-2T 5.4
N ww BAP300R C20-21-150-2T 5.4
opper and Alutihum BAP300R G20-21-200-2T 6.1
BAP300R C20-21-250-2T 9.6
3
9
3
4
3
9
3
4
4
9
9
0

BAP300R 40-22-4T 1.9 BAP300R (€25-25-150-2T 7.
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP30OR 50-22-4T 153 BAP300R C25-25-200-2T 8.
BAP300R 63-22-6T 20. 4 BAP300R (25-25-250-2T "
BAP400R 40-22-3T 10.3 BAP300R (25-25-300-2T 19
BAP400R 50-22-4T 10.3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 BAP400R C24-25-150-2T 7.9
BAP400R 80-27-6T 20. 4 BAP400R C24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 | 0.8 1.9 BAP400R 100-32-6T 32.4 BAP400R (24-25-250-2T 11.9
o . BAP400R 125-40-7T 51.0 BAP400R (24-25-300-2T 19.0
Siiibe g A BAP40OR 160-40-8T 61.1  BAP400R €25-25-150-2T 7.9
BAP400R 200-40-10T 119.0  BAP400R C25-25-200-2T 9.6
_ BAP400R 250-40-12T 187.1  BAP400R (25-25-250-2T 1.9
: ” 5. APMT1135PDER-XM ZP25 | 0.8 1.1 BAPAOOR. 300-601 4T 951 BAPAOOR C25-25-300-2T I
_ BAP400R 50-25. 4-4T 11.9  BAP400R (25-26-150-2T 7.9
| — APNT1GOPDER-XN 2P25 | 0.8 1 1.7 BapsgOR 63-25. 4-4T 153 BAPAOOR €25-26-200-2T | 9.6
e o " BAP400OR 80-25. 4-6T 23.9 BAP400R (25-26-250-2T 1.9
e AT i e BAP400R 100-31. 75-6T 35.7 gﬁgjggg g%g-%g—?gg-g 132
- APMT1135PDER ZM90 0.8 | 2.0 AUBARr S SR LG S e BAP40OR C25-30-200-2T 1.9
-| uminum Right-Angle En illing Cutter
BAP40OR C25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP40OR (25-30-300-2T 20. 4
BAP400R €32-32-150-3T 13.6
2 HRC B2 jepns g slags 348 o209 BAP400R €32-32-200-3T 15.3
BAP400R €32-32-250-3T 18.9
5 “ - APMT1135PDER ZP20 0.8 1.6 BAP400R €32-32-300-3T 23.9
— BAP400R €32-32-350-3T 27.1
. e APMT1604PDER ZP20 0.8 2.3 BAP400R €32-32-400-3T 35.7
| ——
BAP400R €32-35-150-3T 13.6
I s o il e BAP400R C32-35-200-3T 15.3
BAPAOOR €32-35-250-3T 19.7
DxdxT BAP400R €32-35-300-3T 23.9
APMT1135PDER ZP30 0.8 1.6 BAP400R €32-35-350-3T 27.1
AL-BAP40OR 50-22-4T 169 BAP40OR €32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
U5 1 5 sl sn st 4 AL-BAP400R 80-22-6T 30.7  BAP40OR €32-40-200-3T 17.6
- AL-BAP400R 100-22-6T 54.6 BAP4OOR €32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 95.3 BAP40OR C32-40-350-3T 30.7
_— APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0  BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 22.1
s i o silga ages 4 AL-BAP400R 300-32-14T  |340.3  BAP40OR €32-50-200-4T 27.1

24l Jelid 43‘):3 oed sl gsﬁﬂ““ c\'ia:\)é J é)j ‘\3‘)5.4:_
Caand Jjﬁj 2 gl S al 3 S S 4,

oy Sllifh o Wadal (ps ) 433150 4w S 5uld 48 eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

DJ}DS ‘55\535 29 }-.’\)DJ 42»\},} u.}.u\._a J

Machine-Clamped Round Nose Milling Cutter

gy gl Jsanna d

518

g3 058 5158 aply SU ga,000

3 gl le

Locking Tooth Type Round Nose End Milling Cutter

48
DxTxM

EMRR4-16-2T-M8
EMRR4-17-2T-M8
EMRR4-20-2T-M10
EMRR4-21-2T-M10
EMRR4-25-2T-M12
EMRR4-26-2T-M12
EMRR4-25-3T-M12
EMRR4-26-3T-M12
EMRR5-20-2T-M10
EMRR5-21-2T-M10
EMRR5-25-2T-M12
EMRR5-26-2T-M12
EMRR5-30-2T-M16
EMRR5-32-2T-M16
EMRWR5—-30-3T-M12
EMRWR5-32-3T-M16
EMRWR5-35-3T-M16
EMRWR6-25-2T-M12
EMRWR6—-26-2T-M12
EMRWR6-30-2T-M16
EMRWR6—-32-2T-M16
EMRWR6—-35-3T-M16

w
V= WWORNRPMA—_,_,LWOWOONNLWWOOOO

RDMW1204MOT-PM ZP30 R6 1.7
RDMW1605MOT-PM ZP30 R8 2.4
S G5 g S 53l 9n e ses 4y
il I i RPGT1003-AL ZKO1 R5 1.9
J g e
Copper and Aluminum
n RPMW1003MO ZN60 R5 1.6
RPMW1003 ZN60won cramfering| RS 1.3
~— RPMT1204M0 ZN60 R6 | 1.9
Marjal] ) (A he CandaS 3
gralld »
RPMT08T2-JS ZP25 R4 1.1
RPMT10T3-JS ZP25 R5 1.4
IS G g 3 S 53 ga o0 gac 4h
o\- RPMT1204M0 ZM90 R6 2.0
3 HRC 62 Jags s 3 sheya 243 (o]
@ RPMT1204M0 ZP30 R6 1.7
JJS O 9 2 GS 33 5 S
a\ ) RPMT1204M0 ZP60 R6 | 1.7
st U 9 )2 ,\55 52 5 (50 54E A2
: ” : RPMT1204-XM ZP25 R6 | 1.3
Js< O 9 )2 JS 93l 5 (e 4
° RPMW1003MO ZH90 RS | 1.7
3 HRC 62 s s 2 sl a0l a2
l l RPMW1003MO ZP20 R5 1.3
JJS O 9 )2 455 93 5w (50 5es A2
RPMW1003MO ZP30 R5 1.3
JJS (s 3 )2 GS 5l 9 (54 Ae 4l
\ ” RPMW1003MO ZP60 R5 1.3
JsS e (S 53l ga oages 4y
RPMW1003-XM ZP25 R5 1.3

JsS (s 9 )2 &S 53l ga (R s A

JEMRJSSaJJ:S)J)SAﬁL;\dLJ 53\)3

EMR Steel Round Nose End Milling Cutter

2518
DxdxT

EMR 5R50-22-4T
EMR 5R63-22-4T
EMR 5R80-27-6T
EMR 5R100-32-6T
EMR 5R125-40-7T
EMR 5R160-40-8T
EMR 5R50-25. 4-4T
EMR 5R63-25. 4-4T
EMR 5R80-25. 4-6T
EMR 5R100-31. 75-6T
EMRW 6R50-22-4T
EMRW 6R63-22-4T
EMRW 6R80-27-6T
EMRW 6R100-32-6T
EMRW 6R125-40-7T
EMRW 6R160-40-8T
EMR 6R200-40-10T
EMR 6R250-40-12T
EMR 6R300-60-14T
EMRW 6R50-25. 4-4T
EMRW 6R63-25. 4-4T
EMRW 6R80-25. 4-6T
EMRW 6R100-31. 75-6T

e
usD
10.
1.
20.
32.
51.
61.
1.
15.
23.
35.
10.
1.
20.
32.
51.
61.
119.
187.1
238.1
1.9
15.3
23.9
35.7

OAO-&LOQJ\I\OQ)O—\OLQNOQ)

The Above >t Are RP.. Inserts,

RC ../ RD .. s Wkl «Jsllaan ) Jisis 5 S5 a3l

The Above Specification Are RP.. Inserts

RC.. /RD.. Inserts and handle, please inquire!

@2 43 Jald 43 ) ond ) ‘573}\.4 csi\:a)_sa ) é)_'\ 43 ) 92,

C'_\,o:ﬁ _\J:gj R 5)1\; gakﬁajﬁ\ R 65 JJS 4,
ol g SQlli[h e Wadal (pg )l 433 15y 4w 58 5uld 4S: eva@mzgtool.cn

ey 580 5168 agly SU gl 2

Discarded Round Nose End Milling Cutter Toolholder

2513
DxDxLxT

EMR C10-4R10-120-1T
EMR C12-4R12-130-1T
EMR C12-4R13-130-1T
EMR C16-4R16-150-2T
EMR C16-4R16-200-2T
EMR C16-4R17-150-2T
EMR C16-4R17-200-2T
EMR C19-4R20-150-2T
EMR C19-4R20-200-2T
EMR C20-4R20-150-2T
EMR C20-4R20-200-2T
EMR C20-4R20-250-2T
EMR C20-4R21-150-2T
EMR C20-4R21-200-2T
EMR C19-5R20-150-2T
EMR C19-5R20-200-2T
EMR C20-5R20-150-2T
EMR C20-5R20-200-2T
EMR C20-5R20-250-2T
EMR C20-5R21-150-2T
EMR C20-5R21-200-2T
EMR C20-5R21-250-2T
EMR C20-5R25-150-2T
EMR C20-5R25-200-2T
EMR C20-5R25-250-2T
EMR C20-5R30-110-2T
EMR C24-5R25-150-2T
EMR C24-5R25-200-2T
EMR C24-5R25-250-2T
EMR C24-5R25-300-2T
EMR C25-5R25-150-2T
EMR C25-5R25-200-2T
EMR C25-5R25-250-2T
EMR C25-5R25-300-2T
EMR C25-5R26-150-2T
EMR C25-5R26-200-2T
EMR C25-5R26-250-2T
EMR C25-5R26-300-2T
EMR C25-5R30-150-2T
EMR C25-5R30-200-2T
EMR C25-5R30-250-2T
EMR C25-5R30-300-2T
EMR C32-5R35-150-3T
EMR C32-5R35-200-3T
EMR C32-5R35-250-3T
EMR C32-5R35-300-3T
EMR C32-5R35-350-3T
EMR C32-5R35-400-3T
EMR C32-5R40-150-3T
EMR C32-5R40-200-3T
EMR C32-5R40-250-3T
EMR C32-5R40-300-3T
EMR C32-5R40-350-3T
EMR C32-5R40-400-3T
EMR C32-5R50-150-4T
EMR C32-5R50-200—4T
EMRW G25-5R25-150-2T
EMRW G25-5R25-200-2T
EMRW G25-5R25-250-2T
EMRW G25-5R30-150-2T
EMRW G25-5R30-200-2T
EMRW G25-5R30-250-2T
EMRW G32-5R35-150-3T
EMRW G32-5R35-200-3T
EMRW G32-5R35-250-3T
EMRW G32-5R35-300-3T
EMRW G25-6R32-150-2T
EMRW G25-6R32-200-2T
EMRW G25-6R32-250-2T
EMRW G25-6R32-300-2T
EMRW G32-6R32-150-2T
EMRW G32-6R32-200-2T
EMRW G32-6R32-250-2T
EMRW G32-6R32-300-2T
EMRW G32-6R32-350-2T
EMRW G32-6R32-400-2T
EMRW G32-6R35-150-2T
EMRW G32-6R35-200-2T
EMRW G32-6R35-250-2T
EMRW G32-6R35-300-2T
EMRW G32-6R32-350-2T
EMRW G32-6R32-400-2T
EMRW G32-6R40-150-3T
EMRW G32-6R40-200-3T
EMRW G32-6R40-250-3T
EMRW G32-6R40-300-3T
EMRW G32-6R40-350-3T
EMRW G32-6R40-400-3T
EMRW G32-6R50-150-4T
EMRW_C32-6R50-200-4T

£

-

-

ONINOINONO OO0 oo noUwww [

Oo~NNI

—_
O W

[N
VwoN

o~

OGN
Wow=owow

L, 0O,V OR O ROWN—VOWOrRVOWVWOrOVOWWTP L O OR VWOV OVOWROROWORrT PPV T VOV GOV }GR DGR 2R 202 0202200 i

http://www.mzg.tw

N
N



http://www.mzg.tw

oJJDS aJJDS U':‘."‘i"é"i"“\};’ Q:a.ﬁ:\_o A

Machine-Clamped Milling Cutter

Product Product als Product aild Product ails

uUsSD

Pictures Pictures Pictures Pictures
iAo o) C[lS 2
Ji ,mfi ) - P3200-R4 ZP10 7.4
a @ P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A
{ | 8.3
: ’ SEHT1204AFFN CBN1 | 7. 1 RI2004Re3ZRI0 5
) P3200-R10 ZP10 11.9
p : Jsaid ) Profle Fine Milling of Eg%gg::}é- §pﬂ§‘° §? 13 PNMUO905GNEN-MJ 800-08T308M-C~G
| (CaEeiendiniey .S &3 s sac | P3200-R16 ZP10 40.3
SEHT1204AFFN PCD1 | 7.1 e henaiat i I
ZPFG120 ZM55 17.1 PNMUO9O5XNER-GM 800-08T308M-1-G
ZPFG160 ZM55 20.4
. | J52is A[Ee ZPFG200 ZM55 23.9
- Copper and Aluminum ZPFG250 ZM55 32.4
| | SEHT1204AFFN ZKO1| 1.7 ézz?::gﬂfvsmcss 51.4 SNMU130508EN-GM 800-09T308H-P-G
BNM120 ZM55 17.1
BNM160 ZM55 18.6
" s BNM200 ZM55 23.9
Jf;"* e BNM250 ZM55 32.4 WNMUOBOGOBEN-SM R390-11T308-PM
53 (oa sac BNM300 ZM55 41,0
SECA1204AFTN ZP30| 3. 1
o5l S Gl bly sl alya 24l Jsi gigile s 3PKT100408R-M
LJJK' THI:;WJ ;.h fﬁl ;Aad}ljﬂ}ljj Cutt SR S05 08RG SCMTO9T308-MM
SJL J;}JLA LSL_} $I T 0ockKing oo ype pherica n 1ing utter 3PKT190608R—M
32 5 asas 3 3.1
|| SEHT1204AFSN ZM90 XJMG1204 é $-R215. 44-15T364M
RS Sl ST HNGX0906-FF S vovstoc
53] 5 (ga gas 2 :
SEKT1204AFTN ZM90O
T2139M-5R-M5 . o
213Gl 310 Reeom o1 oo BBk | o psocsy
N 0§06 1 ainl 3wt T2139M-10R-M10 35.7
KM 2 g'oa=) 2 Milling Cutter T2139M-12. 5R-M12 38.1
KM Steel 45° Face Milling Cutter T2139M-15R-M16 40.4 6NGUO60408R-M LNKX1506-G
. 6NGU090508R—M
Ay Gl 1S QIS 3 ly Saia S Sasaiila p—
Discarded Spherical End Milling Toolholder CNHX100508T "‘- WXCU080612T
b¥ g - = CNHX131108T P4
N —
| |
L LNKX1005-Y
s v AXMT060208R—EM E. tm%]ggg#
dxbexT UéD
©10-4R-100-1T 8.9
g}g_qugg_]T 8.9 BLMPO603R-M - $229.0300. 32
~4R-150-1T 10.7
©10-5R-120-1T 8.9
DxdxT ©12-5R-150-1T 8.9
€16-5R-150-1T 10.7 BLMPO904R-ML SOEX090408-13
KM12-50-22-4T -9 12139 ¢12-6R-130-1T 8.9
KM12-63-22-4T 153 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25. 4 g}gg g}g—gs—;gg—ﬂ 1(2). 7
KM12-100-32-5T 35.7 —6R-200— 12.6
R o i %} gg g}g_gs_; SS‘H 1(1)'8 BLMP1205R-M ° HNPJ130720ANSN~-HD
KM12-160-40-6T 61.1 ~8R-200~ <
KM12-200-40-8T 136.0 12139 G20-8R-200-1T 16.7
KM 2-250-40-10T 204 0 12139 C25-8R-250-1T 19.7
: 12139 G20-10R-150-1T 13.9 BLMP1306R-M SP1RH5-LT-L
KM12 300-60-12T 255.0° 12139 20-10R-200-1T 16.0
KM12-50-25. 4-4T 13.6° 12139 €25-10R-250-1T 19.7
Kil12-80.25. 45T %9 T G aaa e
~80-25. 4~ . T 5-12. 5R-150-1T 16.7 T
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
- — - 12139 C25-12. 5R-250-1T 22.1
KM L3S o 3 s[S [Ps[1a % £0 apisall 5 72139 €25-12. 5R-300-1T 25.0
KM Aluminum 45° Face Milling Cutter ;%}gg gg%_]lgRs'}ggo?;ﬂ— %g g ZNHU080-08 - APNT1003-NN
D . - = .
12139 C32-15R-200-1T 21.0
. 12139 €32-15R-250-1T 23.9
12139 G32-15R-300—1T 26.7 3
12139 C32-15R-350-1T 30. 4 SNMX1205XTN C } SEKN1203AFTN-NN
12139 C32-16R-150-1T 18.3
12139 C32-16R-200-1T 21.0
12139 G32-16R-250-1T 23.9 —
12139 C32-16R-300-1T 26.7 ‘
12139 C32-16R-350-1T 30. 4 SOMT050204-DP SEKR1203AFTN-NN
Insert:ZPFG.. ggmg?ggg:g:
C16-8R-150 23.9 !
620-10R-200 376 SONT1 17308-DP TRUNe0s08- A
025-12. 5R-150 39.7
2 625-12. 5R—200 49 6
DG Usb ABPF 25321?,5‘1‘;350 22:‘7‘ AXMT123508PEERG u APKT150412-P
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1 ABPF G32-15R-250 596
AL-KM12-80-22-5T 30.7 _ ABPF C32-15R-300 79.3
AL-KM12-100-22-5T 54.6 InsertBNM.. RPHX1204M6EN-M31 SPMT120408-PM
EAATET S 1S
AR oo eT i BNML C16-8R-150-1T 15.0
S e G i BNML C16-8R-200-1T 17.9 XNEX080608-MD15 ONHU060408~PM
AL-KM12-250-32-10T 2121 BNML G20-10R-150-1T 21.0 ONHUOBT508-PIf
AL-KM12 300-32-12T 340.3 BNML G20-10R-200~1T 23.9
Qt—mg-gg-gg- f{-ﬂ ;g? BNML G25-10R-250-1T 29.7
~KM12-63-25. 4~ : BNML C25-12. 5R—150-1T 25.0
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6  BNML G25-12.5R-250-1T 33.3

(5 43 Jal A\JJ,\: oud ) Geﬂ.a céﬂjé K é)_} 4.3)}7:\_

\L}Aﬂé J‘.).:d 2 j)“.,\. ‘5,)\.5\,3‘).4\ J LSS J}S 42,

ol s SUh e Bkl (s )l 4335 43S 5uli 4S: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

ZSS\JJJJ}QJJ‘SJ\EAJ

Insert Type Quick Drill

JsS S y5[S lyansl)

Locking Tooth Type Right-Angle End Milling Cutter

-G Gulh ale s

o5 K Okl Gly eal o 2l 5ol 58 sislle o

Locking Tooth Type Spherical End Milling Cutter

g5l Jsaana 2

253

X

@)

WCMX030208 ZP25 0.8 1.4

WCMX040208 ZP25 0.8 1.4

M M WCNX050308 ZP25 0.8 | 1.7

WCMX06T308 ZP25 0.8 1.9

v R P8 s WCMX080412 ZP25 1.2 2.6

(PPN

© et R39011T3. . WCMX030208 ZP30 0.8 2.3

g 8 =

SxTy 45D DXRX  ——— WCMX06T308 ZP30 0.8 | 2.6

R39011-16-2T-M8 28.6  BNM-10-R5-M5 . B ETS ST WCMX080412 ZP30 1.2 3.7
R39011-17-2T-M8 28.6  BNM-12-R6-M6 35.7 5 S8 A

R39011-20-2T-M10 31.0  BNM-16-R8-M8 38. 1 SPMG050204 ZP25 0.4 1.4

R39011-21-2T-M10 31.0  BNM-20-R10-M10 38. 1 SPMG060204 ZP25 0.4 1.4

R39011-25-2T-M12 33.3  BNM-25-R12.5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7

R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9

R39011-30-2T-M16 35.7 SN S L2 SPMG110408 ZP25 0.8 2.3

R39011-32-2T-M16 35.7 e

R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7

R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9

SPMGO7T308 ZP30 0.8 2.9

JsS S0 508 Glhaash) - 3o clb (ale o D) 2 (S ld a G TR SPMG090408 ZP30 0.8 3.3

Locking Tooth Type Right-Angle End Milling Cutter Tungsten steel an:—svwbrauon tool rod BECWPRTINP i‘«'f“ N ggmgllgigg %Egg 8 g g 2

é,j }S 53 gida : N

WC sSals Jso dUT K2 s

WC Insert Type Quick Drill

Insert: JDMT0702..

23l 4
DxTxM usp
JDMTO7-11-2T-M5 35.7 8 12 XCMT040104 61.7| 91.4 - -
JDMT07-12-2T-M5 35.7 10 12 XCMT050204 57.1| 85.0 4 -
JDMT07-12-2T-M6 35.7 12 16 XCMT060204 47.1 65.3 = -
JDMTO7-13-2T-M6 35.7 14-14.5 20 WCMX030208 25.3| 32.9 37.6 | 67.1
JDMT07-14-2T-M6 35.7 15-20 25 WCMX030208 25.3] 32.9 37.6| 67.1
JDMT07-16-3T-M8 42.9 23L3 4 20.5-24.5| 25 WCMX040208 35.3] 42.6 50.3| 72.9
JDMTO7-17-3T-M8 42.9 dxDxLxM usD 25 32 WCMX050308 35.3| 42.6 50.3 ] 72.9
_08—100— 25.5-30 32 WCMX050308 42.6| 45.3 52.9 1 80.0
L, RIS, = o0 30.5-31 32 WCMX050308 57.6| 59.6 72.9 ] 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
' MEHS_}S_}gg_mg gg; g’ 4 32 WCMX06T308 | 69.0| 76.7 | 96.0 | 125.7
JsS 38 58 shiaasl) - Ga culb le 2 42 40 WCNMX06T308 69.01 76.7 | 96.0|125.7
Locking Tooth Type Right-Angle End Milling Cutter —12— —| 43-45 40 WCMX080412 69.0 76.7 96.0 125.7
mgt}%_}%_lgg_mg 17052'_04 46-50 40 WCMX080412 | 75.4| 93.3 | 102.9| 137.1
MFL12-12-200-M6 135 7 51-55 40 WCMX080412 | 85.0| 109.7| 130.3| 148.6
e A RE AR N
MEHg_}g_;gg_mg 1% 2 60-63 40 WCMX06T308 | 93.3| 123.3| 197.9| 201.1
MFL16=16-100-M8 1143 6465 40 WCMX06T308 | 100.3 137.1| 224.0| 231.0
9 MEL16-16-150-M8 1310 6668 40 WCMX06T308 | 101.7 151.0| 228.6 240.0
Insert: AXMT0602.. MFL16-16-200-M8 178. 6 69-70 40 WCMX06T308 102. 160.0 240.0| 262.9
MFL16-16-250-M8 226.1 SP G515 S5 55 55 54 JAls —
AXMT06-11-2T-M5 35.7 MFL19-19-150-M10 204.7 sp Insert Type Quick Drill
AXMT06—-12-2T-M5 35.7 MFL19-19-200-M10 273.9
AXMT06-12-2T-Mé6 35.7 MFL19-19-250-M10 326.1 d
AXMT06-13-2T-M6 35.7 MFL20-20-100-M10 154.7
AXMT06—-16—-3T-M8 42.9 MFL20-20-150-M10 204.7
AXMT06-17-3T-M8 42.9 MFL20-20-200-M10 273.9
MFL20-20-250-M10 326.1 2
Locking Tooth Type Fast S [ e 51y 3 AR 3739 "43-14.5 | 20 | SPMGO50204 | 30.4| 35.7| 44.7| 78.6
Locking Tooth Type Fast End Milling Cutter 15 25 SPMG()50204 30.4 35.7 44.7 78. 6
o2 2759 15520 | 25 | SPMGO60204 | 30.4| 357 | 4.7 /8.6
; MFL24-24-250-M12 450' 0 20.5-21.5| 25 SPMG060204 41.9| 47.6 60.7| 83.3
¥ L M MFL24-24-300-M12 535' 7 22-24.5 25 SPMGO7T308 41.9| 47.6 60.7| 83.3
MFL25-25-150—M12 273' 9 25-27.5 32 SPMG07T308 50.3| 54.7 65.4| 91.4
MFL25-25-200-M12 376. 1 28-30 32 SPMG090408 50.3| 54.7 65.4| 91.4
Q MFL25-25-250-M12 450' 0 30.5-33.5| 32 SPMG090408 66.9| 72.9 88.1] 108.6
’ 34-40 32 SPMG110408 66.9| 72.9 88.1| 108.6
MFL25-25-300-M12 535.7
- MFL25-25-350-M12 7500 41 32 SPMG110408 79.0| 88.1 105.4| 137.1
DA%JFLJM J‘;B . 42-45 40 SPMG140512 79.0] 88.1 105.4] 137.1
I 46-50 40 SPMG140512 88. 1 98.9 125.7] 148.6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94 3| 111.0| 144.0] 171 4
AJX06—-17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159' 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428' 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-M12 357 4 Ly it 05 et s sy 1 5y 10, G708 40 SPMG110408 T11.0 161.9| 280.0] 300.0
AJX09-28-2T-M12 35.7 G G ] (58 5 A Lay oL L (AL(] 3 Wk, 69-70 40 SPMG110408 114.6 173.9| 290.0| 328.6
AJX12-30-2T-M16 40.4 Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!
AJX12-32-2T-M16 40.4 « Lock teeth type tool stock Specifi cation are complete v @ v a
AJX12-35-2T-M16 47.6  Pleaseinguire for Supportednot listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

@$2 43 Jald 4\3):3 oead ) Lsfn“’ u'ia::)é J tJJ 43)}7:1_
Ciad 3yl a Jo alSa gl 2 S S 4o, -
BT S e e e D http://www.mzg.tw

Gy SQUTL Bkl (o)) 435 45 5uld 4S: eva@mzgtool.cn



http://www.mzg.tw

alisg 9y 2

Boring Tool

2 NBH2084 4l 5 3 52

%,

3 HBOR L] 3[8[ pald

OV 5L pSadua 2) UJFS 0.002myy

HBOR Fine-Tuning Boring -
Cutter (Fine-Tuning
Accuracy 0.002mm)

wiSay ;55 | RBHIOC |LBK1| 19-25 | 28.6 O 322 :8-280mm)
JmSmdis | RBH25C |LBK2| 25-33 | 28.6
Rounr Borma coisr | RBH32G  |LBK3[ 32-42 | 31.0 W \’\
| RBHAOC |LBK4| 40-55 | 40.4  NBH2084 Boring Tool (\
8| RBH52C |LBK5| 52-70 | 61.9 (3 3,3 2 8-280mm)
i RBHéSC LBKé 68_92 83 3 Fine-’ TumngAccuracy 0.01mm
RBH90C |LBK6| 90-122 |102.4 il Range D 4
RBH120C |LBK6| 120-164 | 119.0 =1
RBH160C | BST | 160-204 | 135.7 ~ #5305 2
RBH200C | BST | 200-310 |273.9  SBJ2008-32 8-11 8.6
RBH300C | BST | 300-410 |544.0  SBJ2010-40 10-13 8.6
Insert:CCMT. RBH400C | BST | 400-510 | 583.3  SBJ2012-53 12-17 8.6
RBH500C | BST | 500-610 | 681.0  SBJ2016-68 16-21 8.6
S5 a5 S93| CBH20  |LBK1| 20-26 |135.7 §Ej§8}8_;§2 N 204
on MG opuos || BK2| 25-33 [154.7 s e .0
Indexable Fine-Tunablg CBH32 LBK3 32_42 163. 1 SBJ2020-125 20—1 30 20. 4
[RINr R Boring Cutter CBH40 LBK4 40-55 181.0 SBJ2020-150 20-130 23.9
CBH52  |LBK5| 52-75 [204.7 23j§8§2*§2° c gl 8.5
OBHO8  |LBKS| 68-102 |238.1  spys0rs-tad 2L 8o
CBH100 |LBK6| 100-152 |273.9 SBJ2025-150 25-135 23' 9
CBH150 |LBK6| 150-202 (323.9 SBJ2025-200 25-135 28l 6
CBH200 BST | 200-310 |714.3 SBJ2030-115 30-140 8 .6
CBH300 BST | 300-410 |821. 4 SBJ2030-173 30-140 23' 9
CBH400 BST | 400-510 |919.0 SBJ2030-200 30-140 28l 6
CBH500 BST | 500-610 [1023.9 SBJ2020-L 120-280 8 6
EWN20 | k1| 20-36 |123.9 _ SBJ2020-150L 120-400 | 23.9
EWN25 | CK2 | 25-47 [131.0 1z o 1ol psalons 3sesn
EWN32 | CK3 | 32-60 |142.9 ﬁ;Hzog S s
EWN41 | CK4 | 41-74 [163.1 Boring head 8-280 | 138.1
Fine-Tuning EWN53 CK5 53-95 [178.6 R8-NBH2084-8P 8-280 233.3
Aoouracy0.01mm | Fyneg | CK6 | 68-150 |197.6  NT30-NBH2084-8P 8-280 | 233.3
EWN100 | CK6 | 100-203 |214.3 ~ NTAO-NBH2084-8P 8-280 | 233.3
NT50-NBH2084-8P 8-280 309. 6
NPT EWN1-1 20-25 13.1 BT40-NBH2084—-8P 8-280 233.3
g5 3558 Clamp | CBH1-2 25-31 | 13.1  BT50-NBH2084-8P 8-280 | 273.9
‘ CBH1-3 30-36 | 13.1 SK40-NBH2084-8P 8-280 | 278.6
CBH2-1 25-33 13.1 SK50-NBH2084-8P 8—280 309. 6
CBH2-2 32-40 | 13.1
CBH2-3 39-47 | 131  SNBJIGALws
CBH3-1 32-42 | 13.1 (323,52 2:8-50mm)
CBH3-2 41-51 | 13.1 /
83:27? ‘51?_22 lg 1 NBJ16 Boring Tool // \\\\Q\“
/1 g}j ggﬁj:% 2?:32 12 1 }(;n: ?Fjli:g_\Acscuﬁrgch?Mmm
A e S N
| — | CBH5-1 53-70 | 13.1 e "
CBH5-2 65-82 | 13.1 =1 Ranock =
CBH5-3 78-95 | 13.1 Alius 35502
CBH6-2 94-126 | 131 ~ OBJ1608-32 811 | 8.6
126-179 | 13 1 SBJ1610-40 10-13 8.6
CBH6-3 118-150 | 131 SBJ1612-53 1215 | 8.6
Insert:TP.. 150-203 | 13. 1 SBJ1614-60 1417 | 8.6
SBJ1616-68 16-21 8.6
SBJ1620-83 20-26 8.6
Al 35 s 2 BE12A MG 167 SBJ1620-200L 20-26 | 28.6
g SBJ1625-90 25-31 8.6
BE Boring Tool BE14A M6 16.7 SBJ1625-150L 25-31 23.9
BE16A M6 16.7 " :
CEion mo | 1% SBJ1625-200L 25-31 | 28 6
BE20A WMo | 167  oou1630-90 30736 1 8.6
BE22A W10 16' 7 SBJ1630-150L 30-36 23.9
T T SBJ1630-200L 30-36 | 28 6
BE26A WMo | 167  ooy1635-90 o 5.0
BE28A W10 16' 7 SBJ1635-150L 35-41 23.9
S Mo | 1% 7 SBJ1635-200L 35-41 | 28 6
BE32A Wo | 190  oou1640-90 ol B¢
BE34A W10 19- 0 SBJ1640-150L 40-46 23.9
CEaen Mo |39 SBJ1640-200L 40-46 | 286
BE38A Mo | 239  oou1e45—90 gl 8.6
BEA0A W10 23- 9 SBJ1645-150L 45-51 23.9
: SBJ1645-200L 45-51 28.6
3ecdish slsia | Egre08 - |43
: oS el adiuy a2
EC Conversion Sleeve Eglglg - 13 g § 16
- . NBJ1680ring head 8-50 138.1
EC1614 - 14.3 NT40-SBJ16-55-12P 8-50 | 233.3
= NT50-SBJ16-65-12P 8-50 233.3
‘:5 ;Q :“jl“ STO8-W5-100L M5 59.6 BT30-SBJ16-55-12P 8-50 233. 3
TahgsieR Bteel ST10-W6-110L M6 69.0 BT40-SBJ16-55-12P 8-50 | 309.6
Boring Bar ST12-W6—-120L M6 88. 1 BT50-SBJ16-65—12P 8-50 233.3
| g srswews | eh |
STI6W10-160L] WO |135.7  oxao-SBU16-60-12P ol 278 ¢
: SK50-SBJ16-65-12P 8-50 | 309.6
ST16-W10-180L] M10 |150.0

Al Range D A%
HBOR25 Boring Cutter
HBOR25M (29_38) Boring head 29-38 666.7
HBORZSM (29-38) Back Boring 29_38 666.7
BT30-HBOR25P 857.1
BT40-HBOR25P 857.1
SK30-HBOR25P 857.1
SK40-HBOR25P 857.1
HSK63A-HBOR25P 976.1
CA0602-09Tcarbide Boring 2-3.2 59.6
CA0603_1 6TCarb\dc Boring 3_4 2 59.6
CA0604-22Tcarbide Boring 4-5.2 59.6
CA0605-27Tcarbide Boring 5-6.2 59.6
CA0606—32TCarb\dc Boring 6-7. 2 59.6
CB06050-21 ( CC03) 5-6 123.9
CB06055-26 ( CC03) | 5.5-6.5 | 123.9
CB06060-26 ( CC03) 6-7 123.9
CB06065-31 ( CC03) | 6.5-7.5 | 123.9
CB06070-31 ( CC04) 7-8 123.9
HBOR32 Boring Cutter
HBOR32M (36-52) Boring head 36-52 800
HBOR32M (36—52) Back Boring 36_52 800
HBOR40 Boring Cutter
HBOR4OM (44~68) &oring head 44-68 | 833.3
HBOR4OM (44-68) Back Boring 44-68 | 833.3
HBORS50 (5S onl e adaaf 3550
HBORSOBM (57_90) Boring head 57-90 742.9
HBOR50BM (57_90) Back Boring 57-90 742.9
BT30-HBOR50 (06-90) 6-90 857.1
BT30-HBOR50 (06-90) —14P 6-90 1190. 4
BT40-HBOR50 (06-90) 6-90 857.1
BT40-HBORS50 (06-90) —14P 6-90 1190. 4
BT50-HBOR50 (06-90) 6-90 904.7
BT50-HBOR50 (06-90) —14P 6-90 1273.9
SK30-HBOR50 (06-90) —14P 6-90 1273.9
SK40-HBOR50 (06-90) —14P 6-90 1273.9
SK50-HBOR50 (06-90) 6-90 904.7
SK50-HBOR50 (06-90) —14P 6-90 1273.9
HSK63A-HBOR50 (6-90) ~14P|  6-90 | 1309. 6
HBORBG3 s o0 s 3050 5
HBOR63BM (70_1 10) Boring head 70-110 804. 7
HBOR63BM (110-150) soringreas | 110-150 | 804. 7
HBOR63BM (70-110) ack Boring| 70-110 | 804. 7
HBORG3BM (110-150) sacksoring | 110=150 | 804. 7
NT40-HBOR63 6-150 |1071.4
NT40-HBOR63 (6-150) -15P | 6-150 1381
NT50-HBOR63 6-150 1119
NT50-HBOR63 (6-150)—15P | 6-150 |1428.6
BT40-HBOR63 6-150 |1071.4
BT40-HBOR63 (6-150) 15P 6-150 1381
BT50-HBOR63 6-150 119
BT50-HBOR63 (6-150) 15P 6-150 |1428.6
SK40-HBOR63 (6-150) 15P 6-150 1381
SK50-HBOR63 (6-150) 15P 6-150 |1428.6
HSK63A-HBOR63 (6-150) 15P|  6-150 | 1452.4
Boring Accessories
Boring Accessories
BR1606-21 (WBGT0601. . L) 6-9 23.9
BR1608-28 (TBGT0601. . L) 8-11 23.9
BR1610-35 (TBGT0601. . L) 10-13 23.9
BR1612-42 (TP. . 09. . L) 12-15 23.9
BR1614-50 (TP. . 09..L) 14-17 23.9
BR1616-60 (TP..09..L) 16-20 23.9
BR1620-65 (TP. . 11. . L) 20-24 23.9
BR1624-68 (TP. . 11..1) 24-28 23.9
BMS 35.7
SRTP2938 (TP. . 09..L) 28-38 35.7
SRTP3652 (TP. . 09. . L) 36-52 35.7
SRTP4468 (TP. . 09. . L) 44-68 4.7
BM8 9.6
SRTP70110(TP. . 11..L) 70-110 | 47.6
SRTP110150 (TP. . 11..L) 110-150 | 47.6

&J 43 J.A\..u.\ 4.1).\ u.u.\ﬂ }\
Crand J).d A 5)“; 64\.5\4).4\
5o s Sl o Wadal (g ) Adi gy 4w sS ouild as: eva@mzgtool.cn

_qu cx_IJJﬂ a C).l 4.\)}.\
S ‘)55 ‘\g:_

http://www.mzg.tw


http://www.mzg.tw

Boring Tool

alisg 9 )2

BSA LM 3 5 da OIRRAS 3552 s 2 Holder 2 BST/NBH %338 3 LBK 4ds s 5[ LY @S2
Rough Boring Cutter Holder LBK Toolholder CK Toolholde
s, A g e -
g X ’ ( —
-
e e gwmm |8
-45-L | TP . - 4
e il TBS913-48-L |TP11| 11.9  BT50-NBH2084 596 — = — =
BT40-BSA25-120 | 47.0  IBS913-6-L 11nit) 1.9 o Ronioee 327 BT30-LBKI-55 | 21.0 BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6  1pZl078em- | ol 1 NT50-NBH2084 714  BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 50.0 TBS919-70-L TC16 19' 0 SK40-NBH2084 35.7 BT30-LBK2-80 21.0 BT30-CK2-80 35.7
BT40-BSA42-165 | 500 1BSoio-90-L |7Cis| 190  SKOO-NBH20B4 [14 BT30-LBK3-80 21.0  BT30-CK3-80 35.7
- - 53.6 a5 - : -LBK4- _ ~CK4~ _
eswerie | D0 pweel oo RS | e | Do mesen | o)
BT40-BSA72-180 | 71.4  TBS925-100-L |TC16[31.0  GAT50-NBH2084 05 o BT30-LBK6-60 21.0  BT30-CK6-60 35.7
BT40-BSA90-180 89.3 TBS925-135-L |TC16| 38.1 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 T ean] HSK100A-NBH2084 243 BTO-LBKI-75 21.0  BT40-CK1-75 35.7
- - 81.0 g TBS9.-R - 4 BT40-LBK1-1 21.0  BT40-CK1-1 35.7
BTo0-BSAS6—150 | 833 - 1S050-NBH2084 929 Bao-LoKI-130 | o83 BI4O-GKI-130 | 447
BT50-BSA42-210 | 83.3 : Ry 01 BTAO-LBKI-165 | 35.7  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R MT4-NBH2084 42 9 BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TRS910-45-R MT5-NBH2084 50.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
- - 107. 1 -65-] - : -LBK2- —CK3—
BT50-BSA62-270 TBS913-65-R mgg_ngngggj fé g BT40-LBK2-130 | 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 95.3 } ggg} 2:3835 MBS _NBHa0ad 25, BT40-LBK2-165 | 357  BT40-CK3-135 44.7
BT50-BSA72-285 | 131.0 MTRe-NBH2084 24 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3 }ggg] g:gg:g R8-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3 133709~ 70°R BT40-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 297.6  1p3019-105~ BT40-NBH2084-150L | 90.4  BT40-LBK3-165 | 35.7  BT40-CK4-150 44.7
BT50-BSA105-285| 381.0  TBS925-100— BTAO-NDro08a—200L | 7 BT40-LBK3-210 | 59.6  BT40-CK4-170 53.6
BSA MH\S 32 o2 TBS925-135- BT50-NBH2084-150L 90 4 BT40-LBK4-85 21.0 BT40-CK5-60 35.7
BT50-NBH2084-200L | 119.0 BT40-LBK4-115 21.0  BT40-CK5-100 35.7
BSA Rgutgtw. BT50-NBH2084-250L | 145.9  BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
oring Cutter S e= BT40-BST-70 6.7  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
. BT40-BST-100 66.7  BT40-LBK4-175 | 35.7  BT40-CK6-100 35.7
BT40-BST-150 77.4  BT40-LBK4-22 59.6  BT40-CK6~1 44.7
o SORIHO | 2 erdaes) |20
L BT i BT40-LBK5-125 | 28.3  BT50-CK1-115 75.0
L HEra Lt [ BT40-LBK5-175 | 357  BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4 L BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28.6 L BT50-BST-300 119.0  BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 L E}gg;gg}j‘gg ]gg g BT40-LBK6-115 | 21.0  BT50-CK2-135 82.1
BSA62-90-LBK5 | 41.7 IE BT20-BST-450 io0 % BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
L MEER ) maels |5 geems |
BSB DS 205 e 2 5':|_ SKkd0-BST-150 1239 —— BT50-CK3-140 | 82.1
BSB Rough 0-L SKoyBsF100 2.9, BTSO-LBKI-115 | 53 6  BT50-CK3-175 78.6
Boring Cutter 5-L SK50-BST—200 1547 BT50_LBK1_145 59.6 BT50_CK3_290 140.7
) SKR0_BST—_250 155 7 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
- ——————— BT50-LBK2-110 | 53.6  BT50-CK3-350 189.3
S LBK 330 g .« BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
LBK Extension Rod 7 = - 5. N = 78.
BT50-LBK2-175 | 5.4  BT50-CK4-160 8.6
e BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
e BT50-LBK3-125 | 53.6  BT50-CK4-270 140.7
_ _ 47 o 710 BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
SHS_ESE?E_}ES 47 2 o230 11,9 BT50-LBK3-155 | 59.6  BT50-CK4-350 189.3
BT40-BSB50-165 | 53 6 LBK3-3-30 14.3  BT50-LBK3-185 | 65.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 626 LBKa-a—as 145 BTS0-LBK3-215 | 75.0  BT50-CK5-165 78.6
_ _ ' s " BT50-LBK3-255 | 91.7  BT50-CK5-210 101.0
BT40-BSB72-165 | 71.4 LBK5-5-60 19.0
BT40-BSB90—-180 89j 3 LBK5-5-90 21.4  BT50-LBK3-290 108.3 BT50-CK5-270 140.7
BT50-BSB25-135 | 80. 4 LBKé-6-60 21.4  BT50-LBK3-300 | 108.3 BT50-CK5-300 140.7
' LBK6-6-100 214" BT50-LBK3-350 | 148.9 BT50-CK5-350 189.3
BIgggpsbaa-1a0 | 81.9 LBK6-6-120 20/ BT50-LBK4-115 | 53.6 BT50-CK6-95 75.0
BT50-BSB50-180 | 86.4 —R SLBK sl K J% : .
BT50-BSB50-240 | 92.4 CBS925 100-R BT50-LBK4-145 59.6  BT50-CKé-155 78.6
i s | S 0o |0 pmaen |0
- - 107. 1 . : :
g%g_ggg%_f;g 1043 [ Bse.  \ \\° 450 LBK Conversion Slee BT50-LBK4-255 | 91.7  BT50-CK6-300 140.7
_ v ' sl W BT50-LBK4-305 | 108.3 BT50-CK6-350 189.3
BT50-BSB72-285 | 140.0 T ' Gl CIooLBKaTSOs 11083
BT50-BSB90-210 | 163.9 2 L= LBK2-1-36 310 BTB0_LBKE105 | 53 6 b gamss b o
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 31.0 : SR
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9  LBK3-2-37 310 BT50-LBK5-180 65.4  CK ExtensionRod
BT50-BSB105-285 | 383 1  1BS413-60 TP11[ 1.9 LBK4-1-58 357 BT50-LBK5-240 | 75.0 —
has : TBS416-75 TP11| 11,9  LBK4-2-50 35.7  BT50-LBK5-300 | 108.3 \
PO = L A= = B PO oo |
. - : e -4 BT50-LBK6-95 53.6 .
Boring Cutter oa TBS425-130 1016138 1 g8 U4 BTSO-LBKG-155 | 65 4 e "
S | B e e ey
-3~ . -LBK6~ . K1-1- 29.7
. LBK5 4742 40.4 BT50-LBK6-290 | 108.3 2K2_2_§8 29.7
CBS408-30 1.9 LBK6-1-70 46 2 BTSO-LBK6-350 | 148.9  CK3-3-30 2.7
CBS408-35 11,9 LBK6-2-63 46.4 (K4-4-45 :
0BS410-45 1.9 LBK6-2-93 56 0  HSK63A-LBK1-105| 148.9  CK4-4-60 35.7
BSB25-52-LBK2 | 27-4  (BS410-50 110 LBK6-3-56 46,4 HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 | 28.6  (BS413-60 116  LBK6-3-96 56.0  HSK63A-LBK3-125| 148.9  GK5-5-90 44.7
BSB50-90-LBK4 | 32.9  CBS416-75 1.9  LBKE-a-l, 200 HSKE3A-LBKA-115| 148.9  GK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS#19-115  [CC12[ 190 [BKe 5-a1 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12] 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6
§2 4 Jul 4.3‘).4: uad j\ .ﬂLA u_uJa C).I 44)}.1

\l\A;}S _\‘.).:ﬂ b }JJ\.} L;;IL&;}JA\ R

LSS J}S ‘\.T:I.

ol s SQIL[h e Wadal (ig )l 4357 15y 4w 58 5uld 4S: eva@mzgtool.cn

http://www.mzg.tw

N
(@)



http://www.mzg.tw

CNC Tool Holder

Jﬁdh
DxColletxA/MxL S

2 ER Collet Toolholder 2 ER G S s 2 S EmB ks 5508 (15010 fa S8 e
ER Collet Toolholder NO. xColletxA/MxL ER Extension Collet FMB_Metric Face Milling Tool Holder
R8-ER25 17. 1 35
R8-ER32 17.1 M0, vl
R8-ER40 19.7 BT30-FMB22-45 14.6
MTB3-ER20 16.0 BT30-FMB22-60 14.6
mgg—gsgg 1(77 (1) BT30-FMB22-100 18.6
H _ e O I B BT30-FMB27-45 14.6
MTB4-ER25 17.1 e e e el BT30-FHB27-60 14.6
MTB4-ER32 R Co!let  0.01mm 0.008mm 0.005mm Sy FRuCYi:iy M) 18.6
R MTB4—ER40 22.4 BT30-FMB32-45 16.0
NO. xColletxA/MxL MTB5-ER40 26.4 BT30-FMB32-60 16.0
NT30-ER25 17.1 BT40-FMB22-45 17.1
BT30-ER11-70 16.0° NT30-ER32 17.1 BT40-FMB22-60 17.1
BT30-ER11-100 16.0 NT30-ER40 19.7 BT40-FMB22-100 18.6
BT30-ER16-70 18.6 NT40-ER25 17.1 BT40-FMB22-150 22.4
BT30-ER16-100 18.6 NT40-ER32 17.1 BT40-FMB22-200 37.1
BT30-ER16-150 19.7 NT40-ER40 19.7 BTig—FMB%g—ggg 47.6
BT30-ER20-70 18. 6 1S020-ER16—35MS 40.4 . BT40-FMB22- 61.0
BT30-ER20-100 18 6 1S025-ER20~35MS 40.4  ERWrench/Nuts BT40-FMB22-350 74.0
BT30-ER20—150 197 1S030-ER32-42 27.4 R Wrench/Nuts BT40-FMB27-45 17.1
: 1S030-ER32-60 27.4 BT40-FMB27-60 17.1
BT30-ER25-70 186 TTHSK32E-ER16-050MS 82.1 BT40-FMB27-100 18.6
BT30-ER25-100 18.6  HSK32E—ER20-050MS 2% (V ’ BT40-FMB27-150 239
BT30-ER25-150 19.7 HSK32E-ER20-060MS 82.1 b BT40-FMB32-60 17.1
BT30-ER32-70 18.6 - — 82.1 A M ou N " BT40-FMB32-100 17.1
BT30-ER32-100 18.6 BT30-GER16-70 21.4 gﬁg-mgig-l 80 ?g ‘;
BT30-ER32-150 19.7 BT30-GER16-100 21.4 — H & -
BT30-ER40-80 17.1 BT30-GER20-70 21.4 sl Wrench BT40-FMB40-100 21.1
BT30-ER40-100 171 BT30-GER20-100 21.4 Collet BT40-FMB40-150 26. 4
' BT30-GER25-70 214 ER8A/M 2.6 4.0 BT50-FMB22-60 39.7
BT30-GER25-100 21.4 ’ . BT50-FMB22-100 39.7
BT40-ER11-70 211 BT40-GER12-70 51 . ERUIAM 14 1.7 BT50-FMB22-150 50.3
BT40-ER11-100 21.1 BT40-GER16-100 21 4 ER16A/M 1.7 1.7 BT50-FMB22-200 61.0
BT40-ER16-70 21.1 BT40-GER20-70 23 9 ER20A/M 1.7 1.7 BT50-FMB22-250 81.9
BT40-ER16-100 21.1 . . ) ER25UM 2.6 2.6 BT50-FMB22-300 100. 4
. BT40-GER20-100 23.9
—ER16- . i ER32UM 3.1 3.1 BT50-FMB22-350 119.0
BT40-ER16-150 22.4 BT40-GER25-70 23.9 HR ;
BT40-ER16-200 37.1  BT40-GER25-100 23.9  ER40UM 4.0 4.0 BT20-FiBa0—a00 [
BT40-ER20-70 21.1 BT40-GER32-70 23.9 ERS50UM 15.3 BT50-FMB22-500 185,
o - - - 5.3
BT40-ER20-100 21.1 BT40-GER32-100 23.9 BT50-FMB22-550 2117
BT40-ER20-150 22,4  SER4kms g5 QS BT50-FMB22-600 238.1
BT40-ER20-200 37.1  ER Collet Extension Toolholder 3 Fme s 5308 (15013 o gl BT50-FNMB27-60 39.7
BT40-ER25-70 21.1 Collet . Ml / BT50-FMB27-100 39.7
BT40-ER25-100 211 olle FMB Inch Face Milling Tool Holder BT50-FMB27-150 52 9
_FROE_ E . BT50-FMB27-200 63.6
BT40_ER25_150 224 A/M/ \ F . BT50-FMB27-250 84.7
BTA40-ER25-200 37.1 s BT50-FMB27-300 103.1
BT40-ER32-70 21.1 BT50-FMB27-350 119.0
BT40-ER32-100 21. l BT50-FMB27-400 145. 4
4
1 0
3 9
0 4
4
i 0
7 4
9 0
7 1
9
0
0
7
4

BT40-ER32-150 22. USD BT50-FMB32-60 42.
BT40-ER32-200 37. C10-ER8-100 9.3 BT50-FMB32-100 45.
BT40-ER32-250 50. C10-ER8-150 10. 4 BT50-FMB32-150 56.
BT40-ER32-300 74. C12-ER8-100 943 BT50-FMB32-200 67.
BT40-ER40-80 19 C12-ER8-150 10. 4 BT50-FMB32-250 87.
BT40-ER40-100 1 9 C12-ER11-100 6.7 g¥gg_gmgig—2go 14129.
i C12-ER11-150 6.7 -FMB40-
BT40-ER40-150 23. C16-ER11-100 6.7 BT50-FHB40-100 45
BT40-ER40-200 39. C16-ER11-150 67 BT50-FMB40~150 58.
C16-ER16-100 6.7 NO. xdx BT50-FMB40-200 68,
BT50-ER16-100 39.7 C16-ER16-150 6.7 R8-FMA25. 4 17.1 BT50-FMB40-250 90.
BT50-ER16-150 50.3  C16-ER16-200 1.9 R8-FMA31.75 17,1  BI50-FMB40-300 119.
BT50-ER16-200 636 C16-ER16-250 16.0  030-FNB25. 4 1) BTS0-FMBEO-75 84.
BT50-ER20-100 39.7 C16—-ER20-100 6.7 NT50—FMA3-1 75-75 43- 6 BT50-FMB60-150 145.
BT50-ER20-150 50.3  G16-ER20-150 6.7 ' '
i . B o
: ©20-ER20-100 6.7 H . 625- : H -
BT50-ER20-250 81.9 C20-ER20-150 6.7 NT50-FMA50. 8-75 55.4  R8-FMB32 17.1
BT50-ER20-300 100.4 " 620-ER20-200 119 BT40-FMA25. 4-60 17.1  Re-FNBAO 19.7
BT50-ER25-70 39.7 C20-ER20-250 16.0 BT40-FMA25. 4-100 19.7 CZO:FMBZZ 16.0
BT50-ER25-100 39.7 C20-ER16-100 6.7 BT40-FMA31. 75-60 18.6  G207FMB27 160
BT50-ER25-150 50.3 C20-ER16-150 6.7 BT40—FMA31. 75-100 19. 7 020-FMB32 171
BT50-ER25-200 61.0  G20-ER16-200 1.9 BTAO-FMA3S. 160 197 a2 7
BT5°‘ER%5‘25° 84.7 O 10" BT40-FMA38.1-100 211 C25-FMB32 17.1
BT50-ER25-300 100. 4 R ER11-150 5, BT50-FMA25. 4-60 404 C32-FMB22 18.6
BT50-ER32-70 397 30-ER25-100 {04 BT50-FMA25. 4-100 424 C32-FMB27 18.6
BT50-ER32-100 39.7 C20-ER25-150 10. 4 BT50-FMA25. 4-150 52.9 C3§:FMB§2 18.6
BT50-ER32-150 50.3 (£25-ER16-100 6.7  BT50-FMA25. 4-200 63.6  MISTFME2 i
BT50-ER32-200 61.0 €25-ER16-150 6.7 BT50-FMA25. 4-250 84.7 | \r3irvmes T
B HE D 819 C25-ER16-200 1.9 BT50-FMA25. 4-300 1111 MTa-FMB22 19.7
BT50-ER32-300 97.9 C25-ER16-250 17.1 BT50-FMA31. 75-60 43. 6 MT4-FNB27 197
BT50-ER32-350 126.9  ©25-ER20-100 6.7 . ~ -
A= BT50-FMA31. 75-100 43.6  MT4-FMB32 19.7
BT50-ER32-400 158.9 | G25-ER20-150 6.7 BT50-FMA31. 75-150 56,9 NT30-FMB22 18.6
BT50-ER40-100 42,4 C257ER20-200 109 BT50-FMA31. 75-200 67.4  NT30-FMB27 18.6
BT50-ER40-150 52.9 C25-ER25-150 11- 9 BT50-FMA31. 75-250 87.4 NT30-FMB32 18.6
BT50-ER40-200 63.6 A= : ~ - NT40-FNB22 18.6
€25-ER25-200 17.1 BT50-FMA31. 75-300 119.0 8
BT50-ER40-250 87.4 = o > NT40-FNB27 18.6
025-ER25-250 19.7  BT50-FMA38. 1-60 42,4 QTSI o
BT50-ER40-300 1057 (25-ER32-100 14,6 BT50-FMA38. 1-100 45.0  NTAO-FMB4O 211
BT50-ER40-350 129.6  (¢25-ER32-150 17.1  BT50-FMA38. 1-150 59.6  NT50-FMB22 42.4
BT5G-ER40-400 158.9 032-ER32-100 146 BT50-FMA47. 625-75 847  NT50-FWB27 42.4
BT50-ER50-100 74.0 C32-ER32-150 17.1 BT50-FMA47. 625-150 145. 4 NT50-FMB32 424
BT50-ER50-150 81.9 032-ER32-200 18.6 - - NT50-FMB40-75 43.6
B2y BT50-FMA47. 625-200 198.3
BT50-ER50-200 92.6 C32-ER32-250 22.4 BT50-FMA50. 8-75 55. 4 NT50-FMB32-150 52.9
BT50-ER50-250 121.7 ~ CA0-ER407100 197 BT50-FMA50. 8-100 68.9 [LEghNES2g200 63.6
BT50-ER50-300 158.9  CAO-ER32-100 17.1 ' ' NT50-FMB60~-75 92.6
: ©32-ER40-100 18. 6 BT50-FMA50. 8-150 79.3

@2 43 Jelid 43)7:1 oead ) LS:JLA s\ig)é J tJJ 43)57:1_

- ;L\A::'A: Jj:)j R j)l\g ,\“5731&73),4\ R GS )55 42, hito:// t
oy SQIlh o Wdal (pg )l 433] 150 4458 5uli 48 eva@mzgtool.cn p-/iwww.mzg.tw


http://www.mzg.tw

CNC Tool Holder

2 GSK ) e Q}l Ct‘\lz\.ul} Gl S S dspeadan s Gl S 1 ga oI LS o g J g9 Jgo i o1 5a) [ 3kl o
) yagad 1)
SSIHGh Spech iy

High <223383 Toolholder

@ C Powerful Collet Toolholder SDC Back-Pull Collet Toolholder SLN Side Fixed Type Toolholder

NO. xCol letxL | E
BT30-GSK10-60 20. 3
BT30-GSK10-90 20. 3 "
JJ\_I JJ\_I
BT30-GSK16-60 20.3 NO x:;l letxL J;T) NO x:;I letxL sn
BT30-GSK16-90 20.3 ' ' :
BT40-GSK10-60 23.9 R8-C32 63. 6 BT30-SDC6-90 .6 NO. xdxL
_ _ NT30-C25 63.6  BT30-SDC8-90 .6 —
BT40-6SK10-100 23.9  NIS0702 el 276 BT30-SLN12 160
BT40-GSK16-60 23.9 BT30-SLN16 16.0
BT40-GSK16-100 23.9  NT40-G25 636 BT30-SDC12-90 596 BT30-SLN20 16.0
: NT40-G32-105 61.0 BT40-SDC6-90 63.6 BT30-SLN25 160
MT4-C32 740 BT40-SDC8-90 63.6 :
Collet SK10 7.1 MT5-032 100. 4 - 7 ) BT30-SLN32 16.0
Collet K16 9.0 MT6-032 145 4  BTA40-SDC10-90 63.6 BT40-SLN06-75 211
NT6-C42 180. 0 gmgzsgm qug 63:6 BT40-SLN0B-75 21.1
Bearing Spanner 15.4 NT50-C32-105 92 6 BT40—§Dgg—1 o e BT40-SLN10-75 211
A MTA/B Ak s Gl ga 2 ggg:g%:;g)s 1¢f>119.-00 gk:g:sgqgjgg ;g g gk‘tg:gtmgz;g 1; 1
T Morse Taper Toolholder BT30-G25-80 61.0 BI40 SDC - BT40-SLN20-75 17. 1
BT30-C32-105 61.0 BT40-SLN20-150 25.3
BT40-C20-90 61.0 Collet SDCO6 11.9 BT40-SLN25-100 17 1
BT40-625-90 61.0  Collet SDCO8 1.9 BT40-SLN25-150 25.3
BT40-C32-105 55.4  Collet SDC10 131 BT40-SLN32-100 17.1
BT40-C42-100 105.7  Collet SDC12 13.1 BT40-SLN32-150 of 3
BT50-G20-105 92.6 BT40-SLN40—100 19.7
BT50-G25-105 72:6 adiy Sl sl i 5 BT50-SLN06-105 46,1
BT30-MTA2-75 16.0 g%gg:gg%:} (3)2 105 7 Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT30-MTA3-75 16,0 BT50-032-165 11544 BT50-SLN10-105 46.1
BT30-MTA4-75 16.0  BT50-032-200 145 4 BT50-SLN12-105 39.7
BT40-MTA1-120 26. 4 BT50-C32-250 171.9 BT50-SLN16-105 39.7
BT40-MTA1-45 18.6 BT50-C32-300 224.7 BT50-SLN20-105 39.7
BT40-MTA2-120 25.3 BT50-C42-115 119.0 BT50-SLN25-105 39.7
BT40-MTA2-60 16.0 BT50-C42-135 132.4 BT50-SLN32-105 39.7
BT40-MTA3-135 25.3 BT50-C42-165 145. 4 > BT50-SLN40-105 42.4
BT40-MTA3-75 16.0  BT50-C42-200 171.9 BT50-SLN40-150 52.9
BT40-MTA4-165 31.7  BT50-C42-250 211.7 BT50-SLN40-200 63.6
BT40-MTA4-90 17.1 BT50-C42-300 259. 3 BT50-SLN40-250 92.6
BT50-MTA1-120 55. 4 SK50-C32-110 171.9 ils BT50-SLN40-300 105.7
BT50-MTA1-45 43. 6 JT50-C32-110 171.9 NO. xCol | etxL BT50-SLN50. 8-120 55.4
BT50-MTA2-135 52.9  ColletC20 3.6 BT50-J4112 9.0
BT50-MTA2-60 39.7  ColletG25 3.6 - 14,  G10-SLN4-100 22.4
—MTA3- Collet €32 3.6  BI50-J4124 : C10-SLN4-150 22.4
BT50-MTA3-150 52.9
BT50-MTA3-75 39.7  ColletC42 7.6 BT40-J4112 793 610-SLN6-100 22.4
- _ : Wrench G20/25/32/42 3.9 BT40-J4124 92. 6 C10-SLN6-150 22 4
BT50-MTA4-180 66.1 — = e RN .
BT50-MTA4-90 39.7 s ‘ M1 o ~SLN4- _
BT50-MTA5-105 43,6  Sa dod Vsl ol MT5-14124 100.4 cg stug 188 %%'i
NTAOMTAD T8 oS C12-SLNG. 150 > 4
NT40-MTA3 18.6  Drill Chuck Tap Collets C12-SLN8-100 22 4
NT40-MTA4 18. 6 GT312 China Standard 16.0 C12-SLN8-150 224
NT50-MTA1-45 43 6 GT312 Japanese Standard 18.6 C16-SLN10-100 22 4
NT50-MTA2-60 42 4 GT24 China Standard 19.7 C16-SLN10-150 22.4
NT50-MTA3-75 424 GT24 Japanese Standard 22.4 C16-SLN6-100 22.4
NT50-MTA4-90 42. 4 i Ly e 3 s gle 5 ke 3 ilé o C16-SLN6-150 22.4
NT50-MTA5-105 43.6 NO. xCol letxl uso DR C16-SLN8-100 22.4
ide Milling Tool Holder of Saw Blade 01 6_SLN8_150 22 4
BT40-MTB1-120 26,4 Abil1e Drn Chuck 2 * C20-SLN10-100 25. 3
BT40-MTB1-45 18.6  BT30-APU0S-80 o C20-SLN10-150 25.3
BT40-MTB2-60 16.0 BT30-APU16-100 39.7 C20-SLN6-150 25.3
BT40-MTB3-135 25.3 BT40-APU08-100 371 C20-SLN8-100 25.3
BT40-MTB3-75 16.0  BT40-APU13-100 371 €20-SLN8-150 25.3
BT40-MTB4-165 31.7 BT40-APU16-120 39.7
BT40-MTB4-90 17.1 BT50-APU13-110 58.1 e NT40-SLN12 19.7
BT50-MTB1-120 55.4 BT50-APU13-180 79.3 N0 X0al1etl ? NT40-SLN16 19.7
BT50-MTB1-45 43.6  BT50-APU16-130 62.1 -xCol le NT40-SLN25 19.7
BT50-MTB2-135 52.9  BT50-APU16-180 84.7  BT40-SCA22-90 65.4  NT40-SLN32 19.7
BT50-MTB2-60 39.7  NT30-APU13-100 39.7  BT40-SCA25.4-90 65.4  NT50-SLN12 42.4
BT50-MTB3-150 529 NT40-APU13-100 39.7  BT40-SCA25.4-120 83.3  NT50-SLN16 42.4
BT50-MTB3-75 39.7 NT30-APU16-120 42.4 BT40-SCA27-90 65.4 NT50-SLN20 42.4
BT50-MTB4-180 66. 1 NT40-APU16-120 42.4 BT40-SCA32-90 65. 4 NT50-SLN25 4.4
BT50-MTB4-90 39.7 S do3 sl 1113 19.7 NT50-SLN32 42.4
BT50-MTB5-105 43,6 SadS sl 16 | 239 Gl 4k s gpble 2 NT50-SLN40-105 43.6
BT50-MTB5-210 90.0  C20-APU13 gl g Machine Tool Spindle Test Rod NT50-SLN42-105 47.6
NT40-MTB2 18.6  C20-APU16 : — ~ NT50-SLN50. 8-120 55. 4
NT40-MTB3 186  C32-APUI3 e ‘ )
NT40-MTB4 18.6  R8-APUI3 343 - 18020~11. 3~Probe 40.4
NT50-MTB1-45 43.6 WS 30 4 15025-11. 3Probe 40.4
NT50-MTB2-60 42.4  MISTAEHAS 30 4 15025-20~Probe 40.4
NT50-MTB3-75 42.4 i 334 BT30 92.9
NT50-MTB4-90 42.4 mi_ﬁgﬂ]g 331 BT40 92.9  HSK32E-11. 3Probe 82. 1
NT50-MTB5-105 43.6 _ 4p (08/13/16) 1.9 BT50 131.0

%2 43 JALM 4.\).\ ;)"‘"5 j| _JLA s\_a_\)_ﬁ Q 7)4 4.\)5_|
Chand JJ.ﬂ &) j)j\g GJLQ_\).A\ A S BESS 42,
(ol s Sallill s ihal ((5 )1 433715 40 S 5uli 4S: eva@mzgtool.cn

N
oo

http://www.mzg.tw


http://www.mzg.tw

Q CNC JAJ\}j u_aLoLA J_ﬂu}

CNC Tool Holder Accessories

3 cNe < e ‘).‘}_I Oalala ol
CNC Tool Holder Puller Bolt
45°/60°/90°

i

BT DIN69872

CoaSY Jagla g s, (2. o
CNC Tool Holder Lockset

Q.qS\I L:\LAAJ (5P 2
CNC Tool Holder Lockset

i

180 J1S

Q-HSY Jaf_\l..m" [ P P
CNC Tool Holder Lockset

2515 . D
BT30-45° 1.4 NBT30 14.3 18020 59.6 BT30 17.9
BT30-60° 1.4 18025 59.6 BT40 19.0
g}ig—zg 13 HSK25 59.6 BT50 38.1
-45° . HSK32 59.6
BT40—45: Through Hole 1.9 HSK40 71.4
BT40-60° 1.9 HSK50 71.4
g%‘rg:zgo 13 ‘1? HSK63 83.3
BT50-45° Through Hole 3.6 a0 w0
BT50-60° 3.6 R ) 1L s 4l il
BT50-60° Through Hole 3.9 Z-Axis Setter CNC Edge Finder 950 }LL“'& 3 2 A g Gala 3
BT50-90° 3.6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
DIN69872-30 3.6
DIN69872-40 3.6
DIN69872-50 6.0
1507388-30 4.6
1807388-40 4.6
1807388-50 6.0
J1S6339-30 3.6
J1S6339-40 3.6
J186339-50 g 2 Antimagnetic ~ Ceramic
MAZAK-BT40 .
MAZAK-BT50 6.0 usD
uSe Z-axis Setter . sile type 2.4 BT30 3.9
[ Z-axis Setter 66.7 Antimagnetic type 3.6 BT40 3.9
u.\:\LLiEA gi__ub.m type 10.7 BT50 5.4

@2 43 Jald 43 ) oead ) Ls:]jLA ‘373)5 J tJj 43)}7:1_
xlmzsﬁ Jifj k) }Jl\g ‘_57315\::)4\ R LSS )JS 42,
oy SQAUTL Bkl (o)) 4335 4058 5uld 4S: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

&_1\..‘:‘)\}} d; ol g_uj 5

Lathe Chuck Accessories

J\D_;\e Q

Chuck T Block

PEPACR 4
}j“ usD

inch 10.7
6 inch 11.9
8 inch 15.4
10 inch 19.0
12 inch 22.1
Jy s Had
Chuck Jaw Fixing Plate 43 5185
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS=204 | - 5 T
5 inch SBL-205 | 435 3 | SB-205 | 435 3 | SBS-205 | 482.9 ,ﬁ & inch e
Sa Salsona slaa 316 inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 (¥ 2 8 inch 107 1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 > D ot :
10inch SBL-210 | 697.6 | SB-210 | 697.6 | SBS=210 | 800.0 inc 115.4
Hollow Hydrautic Chuck| 12inch SBL-212 | 1190.4| SB-212 |1190.4| SBS-212 | 1326. 1 — - —
R SBL=215 | 2642 9| SB=215 | 2642 9| SBS-215 | 3000 0 2= G20 Salssoad s
T 6 inch 2DTK-206 | 647. 6 | 3DTK=206| 647. 6 | 4DTK=206| 714.3  solid tydraulic 45 180
S Salaga sba 218 inch 2DTK-208 | 782.1 | 3DTK-208 | 782. 1 |4DTK-208| 869.0  Rotary Cylinde, -
Hollow Hydraulic Chuck | 10inch 2DTK-210| 935.7 | 3DTK-210| 935.7 | 4DTK-210 | 1038. 1 i g !ncmgg;g;
EEPUEEER 6 inch 3JDB-206 | 988. 1 bt Y Ing 131.0
Sa ﬁg%ﬁkéﬂ% 218 inch 3JDB-208 | 11214 ; 8/1Q|nch(1225) 150.0

Hollow Hydraulic Chuck 10inch 3JDB—210 1258. 3 12 InCh(1530) 1976

i w4en s |5 inch SBL-205KQ| 595. 3 | SB—205KQ | 547. 6 |SBS—205KQ| 666. 7 A, — T

eTiem . |6 inch SBL-206KQ| 631 0 | SB-206KQ | 611 9 [SBS-206KQ| 714 3 2 $200 S ime g

Holléw Halt-Thtough |8 inch SBL—208KQ| 714. 3 | SB-208KQ | 681.0 |SBS—208KQ| 788.1  toliow Hydraulic PRI

Peumatic Chuck | 10 jnch SBL-210KQ| 785.7 | SB-210KQ | 750. 0 |SBS-210KQ| 908.6  Rotary Cylinder -
4 inch INL-04 | 428 .6 | JIN-04 | 401 1 4 !ncﬂ(ﬁgg%
5 inch INL-05 | 452 4 | IN-05 | 409 6 inch(1036)
S Sl syt 3l e 36 I1CH INL-06 | 500.0 | JN-06 | 459.6 inch(1246)

T IO M8 inch INL-08 | 547.6 | JN-08 | 511.9 inch(1552)

Solid Hydraulic Chuck | 19,01 INL-10 | 714.3 | JIN-10 | 666.7 10 inch(1875) )
12inch INL-12 | 1119.0| JIN-12 | 1088.1 12 inch(2091) 1309.6
15inch INL-15 IN-15 | 2309. 6 ST S [

SN 5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3 R
S i |6 inch| 1L=06 [ 595.3 | 2L-06 | 544.0 | 3L-06 | 642.9 Chuck Conecting Disc [IREER
* “long Stroke 8 inch| 1L-08 | 619.0 | 2L-08 | 542.9 | 3L-08 | 666.7 4 inch 35.7
Solid HydravlicGhuck 1 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 el 214
ST =T 16 inoh JLS—206 | 892.9 6 inch 21.4
S Salsgde sha 318 inch JLS-208 | 940.4 8 inch 35.7
Hollow Hydraulic Chuck | 10inch JLS-210 | 1038. 1 10 inch 47.6
12 inch 71.4
[EBIES A a)ldl u.i.ﬁ u_i:\.‘}JA:\A K)
Hard Jaw For 4.!)]5\“
Hydraulic Chucks
5 inch .
6 inch 119.0
8 inch 131.0
». 10 inch 163.1
12 inch 204.7
15 inch 369.0
s |6 inch . N
C;ngrj;ffi%;i%;:iihd 8 inch 36808 | 839 3 Dlsaeianide )l Sa Sy e
ertica 5 inch JYL-05 | 738.1 [JY-05 | 714.3 [JYS—05 | 833.3  Fan Softyaw For A
Sea Sl 5 yn 5L 46 inch JYL-06 | 785.7 | JY-06 761.9 |JYs-06 | 904.7 " 5 inch
* Verfical Hollow = |8 inch JYL-08 | 928.6 |JY-08 904.7 | JYS-08 | 976.1 6 inoh
Hydraulic Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 | JYS-10 | 1107.1 - 'i’:]‘:Ch
4a 4ap s |5 inch SBL—205KQL| 714.3 | SB-205KQL | 690.4 |SBS-205KAL| 785.7 ' 10 inch
J\A«_i\_,a e R 6 inch SBL-206KQL| 773.9 | SB-206KQL | 750.0 |SBS—206KQL| 857.1 X
Tollow HarThitages| 8 inch SBL—208KQL| 904.7 | SB-208KQL | 881.0 |SBS-208KAL| 952.4 12 inch
Vertical <Sea CSesila o p10inCh SBL-210KQL| 976.1 | SB-210KQL | 952. 4 [SBS-210KQL| 1071 4 15 inch
e a°=120° a°=120° a°=120° a°=120° a°=120°
Soft Jaw For a/ 5 Olsmeripriae lSa S50 2 6 Slsm il Se Sy 8 el S Syooma s 10 Dl esiesi 3ol Sa S50 3 12 Slan psiasi el Sa S50 0

Hydraulic Chucks \\‘/\\‘/ \

5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

- e LK) B e A . B 4. g i
43 H = 45 IS H = 45 oIS H = 45 41S% H
}j usD < usD o usD o

5H40 13.6 6H50 50 | 17.1 8H40 40 | 204 10H50 50 | 23.9 12H60 60 | 346

5H50 171 6H60 60 | 20.4 8H50 50 |20.4 10HB0 | 60 |27.4 12H70 | 70 | 40.4
5H60 60 | 20.4 BH70 70 | 23.9 8H60 60 | 239 10H70 | 70 |31.0 12H80 | 80 |47.6
5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 | 80 | 346 12H90 | 90 |59.6

G T o o 4 BHBO 80 [39.3 6H90 90 |32.4 8H80 80 [31.0 10H90 | 90 |41.7 12H100 | 100 | 73.9
5H90 90 |45.3 6H100 | 100 | 37.6 8H90 90 | 357 10H100 | 100 |50.0 12H120 | 120 | 80.0

5H100 | 100 |51.1 6H120 | 120 |51.1 8H100 | 100 | 42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0
6H130 | 130 |56.0 8H120 | 120 |51.1 10H120 | 120|596 ~ — — — 3o
6H150 | 150 | 61.9 8H130 | 130 | 54.7 10H130 | 130 | 68.1 ]55‘”5;};;3;;;:;j:;ajzhf:;f*‘4
8H140 | 140 | 65.4 10H150 | 150 | 80.0
8H150 | 150 | 69.0 10H170 | 170 |102.4
8H200 | 200 |135.7 10H180 | 180 |109.6

15H100 | 100 |154.7
10H200 | 200 |146.4 451120 | 120 |170.3

15H150 | 150 |257.1

o

@2 43 Jal 43 ) ond ) ‘573.“.,4 uilfg‘)é ) t)_] 43 ) 92,
\L.A:fﬂ' Jj:gj 2 jjllg AETJLS%JA‘ a LSS JJS 43,
Gl s SQll[h s Wadal opg )l 4330 150 4458 5uld 4S: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Twitter

25“73'."5 ‘\.5\:1‘)‘ oy :).‘5‘6‘} 3 D _1_.17\5\“

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

